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Part A: Introductory Macroeconomics

Unit 1: National Income and Related Aggregates 30 Periods 

 What is Macroeconomics?

 Basic concepts in macroeconomics: consumption goods, capital goods, final 

goods, intermediate goods; stocks and flows; gross investment and 

depreciation.

 Circular flow of income (two sector model); Methods of calculating National 

Income - Value Added or Product method, Expenditure method, Income 

method.
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 Aggregates related to National Income:

 Gross National Product (GNP), Net National Product (NNP), Gross 
Domestic Product (GDP) and Net Domestic Product (NDP) - at market price, 
at factor cost; Real and Nominal GDP.

 GDP and Welfare

Unit 2: Money and Banking 15 Periods

 Money – meaning and functions, supply of money - Currency held by the 
public and net demand deposits held by commercial banks.

 Money creation by the commercial banking system.

 Central bank and its functions (example of the Reserve Bank of India): Bank 
of issue, Govt. Bank, Banker's Bank, Control of Credit through Bank Rate, 
CRR, SLR, Repo Rate and Reverse Repo Rate, Open Market Operations, 
Margin requirement.

Unit 3: Determination of Income and Employment 30 Periods

 Aggregate demand and its components.

 Propensity to consume and propensity to save (average and marginal).

 Short-run equilibrium output; investment multiplier and its mechanism.

 Meaning of full employment and involuntary unemployment.

 Problems of excess demand and deficient demand; measures to correct them - 
changes in government spending, taxes and money supply.

Unit 4: Government Budget and the Economy 17 Periods

 Government budget - meaning, objectives and components.

 Classification of receipts - revenue receipts and capital receipts; 
Classification of expenditure – revenue expenditure and capital expenditure. 
Balanced, Surplus and Deficit Budget – measures of government deficit.

Unit 5: Balance of Payments 18 Periods

 Balance of payments account - meaning and components;

 Balance of payments – Surplus and Deficit

 Foreign exchange rate - meaning of fixed and flexible rates and managed 
floating. Determination of exchange rate in a free market, Merits and demerits 
of flexible and fixed exchange rate.
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Managed Floating exchange rate system

Part B: Indian Economic Development

Unit 6: Development Experience (1947-90) and Economic Reforms since 1991:

   28 Periods 

 A brief introduction of the state of Indian economy on the eve of 

independence.

 Indian economic system and common goals of Five Year Plans.

 Main features, problems and policies of agriculture (institutional aspects and 

new agricultural strategy), industry (IPR 1956; SSI – role & importance) and 

foreign trade.

 Economic Reforms since 1991:

 Features and appraisals of liberalisation, globalisation and privatisation 

(LPG policy); Concepts of demonetization and GST

Unit 7: Current challenges facing Indian Economy 60 Periods

 Human Capital Formation: How people become resource; Role of human 

capital in economic development; Growth of Education Sector in India

 Rural development: Key issues - credit and marketing - role of cooperatives; 

agricultural diversification; alternative farming - organic farming

 Employment: Growth and changes in work force participation rate in formal 

and informal sectors; problems and policies

 Sustainable Economic Development: Meaning, Effects of Economic 

Development on Resources and Environment, including global warming

Unit 8: Development Experience of India: 12 Periods

 A comparison with neighbours

 India and Pakistan

 India and China

 Issues: economic growth, population, sectoral development and other 

Human Development Indicators
xvii



Part C: Project in Economics 20 Periods

Prescribed Books:

1. Statistics for Economics, NCERT

2. Indian Economic Development, NCERT

3. Introductory Microeconomics, NCERT

4. Macroeconomics, NCERT

5. Supplementary Reading Material in Economics, CBSE Note: The above 

publications are also available in Hindi Medium.
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intermediate goods, e.g. Service of Layer, used by firms Mechanics, Chartered 
Accountants, Raw Material etc.



Net Investment = Gross investment - Depreciation. 

Stock : Variables whose magnitude is measured at a particular point of time 
are called stock variable, e.g., Wealth, assets, money, Inventory etc. A stock 
variable is nothing but an accumulated sum of flows.



factors of production for supplying factor services with in domestic territory 

During the operation of production, money left after 





NDP



2. Gross Domestic Capital Formation (1)

(c) Gross Public 
Investment



Rent & Royalty Interest  

Dividend Undistributed 
corporate profit or 
retained earning or 
savings of private 
corporate sector



















































Limitations of Barter System: 

their Barter 

the same time. If such double coincidence does not take place, exchange

barter system, there wasn't any 

payments.

On account of all there limitations, metallic money and then proper money were
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INDIA PAKISTAN CHINA
Started 
towards their 
developmental 
path

1947 1947 1949

Initiation of 
development
strategies

Mixed Economy,
First Five Year Plan in 1951
Till the 1980s, all the three
countries had similar growth 
rates and per capita incomes





Mixed Economy,
First Five Year Plan in 1956,
which is called Medium 
Term plan.
Till the 1980s, all the three
countries had similar growth 
rates and per capita incomes






Command economy
China announced its First
Five Year plan in 1953
Till the 1980s, all the three
countries had similar 
growth rates and per 
capita incomes






Economics 
Reforms

1991 1988 1978

Industrial policy 1948, 
1956 etc.
Green revolution (1966)
Operation fluid or white
revolution 1970
Poverty eradication 
programme
Rural Development strategy
Employment Generation
Economic reform-1991
Special Economic Zone
policy-2005

Import Subsitution 1950s
Import industrialisation. 1960s
Green revolution 1960s
In 1970s, Capital goods
industries were nationalised.
In 1988, structural reforms
were implemented

Green Leap Forward (GLF)
(1958)
Great Proletarian Cultural
Revolution (1966-76)
Economic Reforms (1978)
Special economic zone 
1979

Development 
Strategies

1.

2.
3.

4.

5.
6.
7.
8.

1.
2.
3.
4.

5.

1.

2.

3.
4.
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Demographic
indicators

Huge populous country 
National Population
Policy formulated in the 
year 2000
The sex ratio is low and 
biased against females
The Fertility rate is close to 
average.
Urbanisation is low (28% 
only)
Under nourished chidren are
37.9%





Low populous country (about 
one tenth of India or China)
Populatation growth is 
highest in Pakistan followed 
by India and China
The sex ratio is low and 
biased against females
The Fertility rate is very high
Urbanisation is high 
Under nourished children
are 37.6%











Huge populous country
One child norm
which was introduced in 
China in the late 1970s is 
the major reason for low 
population growth
The sex ratio is low and 
biased against females
The Fertility rate is low
Urbanisation is high
Under nourished children
are 8.1%










Material 
Mortality Rate
(per 1 lakh 
births)

174 178 27

Infant Mortality
Rate (per 1000
live births)

29.9 57.2 8.5

Human 
Development
Index (Value)

0.647 0.560 0.758

Gross National
Income per 
Capita (PPP S)

6,829 5,190 16,127

People Below
Poverty Line
(at $3.20 a day
PPP)(%)

60.4 46.4 7.4

Overall
performance

India performed moderately
A majority of its people  still 
depend on agriculture
Infrastructure is lacking in 
many parts of the country
It is yet to raise the level of 
living of more than 22% of 
its population that lives
below the poverty line.

Pakistan has performed 
poorly.
Political instability.
Volatile performance of 
agriculture sector 
Over dependence on 
remittances
Growing dependence on 
foreign loans on the one 
hand and increasing
difficulty in paying back the 
loans on the other.

China has performed 
comparatively 
Success in raising the lovel
of growth along with 
alleviation of poverty.
It used the market 
mechanism to create 
additional social and 
economic opportunities
without politcal 
commitment.
By retaining collective 
ownership of land and 
allowing individuals to 
cultivate lands, China has 
ensured social security in
rural areas.
Public intervention in 
providing social 
infrastructure 
has brought about 
possitive results in human 
development indicators 
in China.

a.
b.

c.

d.

a.

b.
c.

d.

e.

a.

b.

c.

d.

e.
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UNIT-I

NATIONAL INCOME AND RELATED AGGREGATES

1. Study the following picture carefully.

The above illustration depicts a problem associated with the estimation of 

national income. Identify the same and explain it with a suitable example.
(Ans Hint: Problem of double counting)

2. ook at the following picture.L

Analyze the above picture and explain it taking a suitable example.
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3. ook at the following picture and identify the limitation of GDP as an indicator of L

welfare Explain the identified limitation briefly.

4. ook at the following picture to identify the limitation of GDP as an indicator of L

welfare. Explain the identified limitation briefly.

Case Studies:

1. Read the following extract carefully and answer the questions that follow:

The primary di ference between nominal GDP and real GDP is that real GDP is f

adjusted for inflation or deflation, providing a more accurate measure of economic 

growth, while nominal GDP measures an economy's size at current market prices.



Both measures have their advantages and limitations, and understanding these 

di ferences is essential for making informed decisions in economics.f

As the global economy continues to evolve, new methods for measuring economic 

performance may emerge. For now, understanding the real and nominal GDP 

formulas, and the dif erences between the two remains valuable for navigating the f

world of trading.
 
a) What is the major  f  dif erences between real and nominal GDP?
b) How can we transform nominal GDP into real GDP?  
c) Which of the two-real or nominal GDP is a better indicator of economic  growth        
     and why?

2. Read the following extract carefully and answer the questions that follow

In the case of pollution-the traditional example of a negative externality-a polluter 

makes decisions based only on the direct cost of and profit opportunity from 

production and does not consider the indirect costs to those harmed by the 

pollution. The social-that is total costs of production are larger than the private 

costs. Those indirect costs which are not borne by the producer or user-include 

decreased quality of life, say in the case of a home owner near a smokestack, higher 

health care costs, and forgone production opportunities, for example when 

pollution harms activities such as tourism. In short, when externalities are negative, 

private costs are lower than social costs

There are also positive externalities, and here the issue is the dif erences between f

private and social gains. For example, research and development (R&D) activities 

are widely considered to have positive ef ects beyond those enjoyed by the f

producer-typically, the company that finds the research. This is because R&D adds 

to the general body of knowledge, which contributes to other discoveries and 

developments. However, the private returns of firm selling products based on its 

own R&D typically do not include the returns of others who benefited indirectly 

With positive externalities, private returns are smaller than social returns
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When there are dif erences between private and social costs or private and social f

returns, the main problem is that market outcomes may not be ef i ent To promote f ci

the well-being of all members of society, social returns should be maximized and 

social costs minimized. Unless all costs and benefits are internalized by households 

and firms making buying and production decisions, market outcomes can lead to 

underproduction or overproduction in terms of a society's overall condition (what 

economists call the "welfare perspective")

a) Define externalities

b) How do externalities act as a limitation of GDP as an index of welfare? 

c) give an example of positive and negative externality each.
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1. Identify the type of exchange system depicted in the following picture and state 

the limitations of the same.

( int  barter system)H :

2. Study the following picture carefully
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UNIT-II

MONKEY AND BANKING



State any three instruments through which economic stability and growth can be 

achieved.
(hint: any three monetary policy instruments)

Case study:

Read the following extract and answer the questions that follow

Generally, banks hold a maximum amount of money that they can create as a 

percentage of their reserves, which is set forth by the fractional reserve banking 

system. As banks loan out their reserves, they produce checkable deposits and 

estimate the amount of money that is available to be lent out by using their reserve 

requirement ratio. Hence, the money multiplier can be seen as the opposite of the 

reserve requirement ratio, because it is a ratio of the checkable deposit to the amount 

in the reserves.

An example of such an inverse relationship is when a bank posts a required reserve 

ratio of 24%, the deposit multiplier would be 76%. The money multiplier allows for 

the bank to ensure that there is sufficient cash to cater for withdrawals, as needed by 

the customers.

1.  Define money multiplier.
2. hat is meant by reserve requirement ratio? How is it related to money W

multiplier?

155



PICTURE 1

Q Study the picture and answer the following

1. Dif erentiate between repo rate and reverse repo rate. f
2. Analyse the diagram and cite reasons for changes in the repo rate from 2005 to  

2022.
(hint: repo rate has been reduced from above 15% to about 6% over the 20 years' 

period which shows an effort to boost growth and employment and pull the economy 

out of a situation of deflation)

PICTURE 2

UNIT-III

DETERMINATION OF INCOME AND EMPLOYMENT
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Q. From the above diagram
 

1. What is the value of APC and APS point B.
2.' Consumption and Savings curve are always parallel to each other.' Do you 

agree? Give reasons for your answer.
3.  Define autonomous consumption

(Hints:1) APC=1, APS = 0
 2) no, they are parallel only when MPC = MPS=0.5
 3) communion level at zero income.)

Picture 3

Q Define cash reserve ratio. How can it be used for correcting the problems of excess 

and deficient demand?

CASE 1

A significant fluctuation in the growth rate of gross domestic product is observed, 

which comes along with the fluctuations of other demand components from 1951-

52 to 2019-20. It is found that in the long run, out of the components that 

significantly influence the aggregate demand and hence the economic growth of 

India, the private final consumption expenditure plays the most significant role 

followed by private fixed investment. A 1% increase in the PFCE leads to an 

average 0.96% increase in the GDP. The result also reveals that the structural 

policy reforms implemented since 1991 have created the virtuous cycle of 

economic growth in the economy and should be a policy priority
(economic and political weekly)
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Q. Read the passage above and answer the following

1 What are the components of the aggregate demand mentioned in the article?. 
2. Define private final consumption expenditure 
3. How does increase in PFCE lead to increase in GDP? 

(hints C, G, X-M (1) I,  ; 
 ( )2  Consumption expenditure by household sector: 
 ( )3  Increase in PFCE implies increase in the aggregate demand and hence 

GDP)

CASE 2

One of the core characteristics of Keynesian economic  or demand-side economics s

is the emphasis on aggregate demand. Aggregate demand is composed of four 

elements consumption of goods and services  investment by industry in capital ,

goods, govemment spending on public goods and services, and net exports.

Under the demand-side model  Keynes advocated for government intervention to ,

help overcome low aggregate demand in the short-term, such as during a recession  

or depression This could reduce unemployment and stimulate economic growth.. 

(Investopedia)

Q. From the above article, discuss the ways in which government intervention can 

help to overcome sinuations of recession and inflation in an economy

(Hint. fiscal policy measures)
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UNIT 4. GOVERNMENT BUDGET AND ECONOMY

PICTURE 1.

Q.	A)	What	are	the	different	type	of	taxes?
	B)	Based	on	the	picture	above,	discuss	the	impact	of	increased	tax	collection	

on	the	economy.
(hints	(1)	Direct	and	indirect	(2)	Increase	in	direct	save	collection	implies	higher	
levels	of	income	and	hence	greater	aggregate	demand)

(Hint:Surplus	budget)

PICTURE 2.
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2.	Study	the	following	picture	carefully	and	answer	the	questions	that	follow.
a) 
b)	Calculate	the	actual	revenue	surplus/	deficit	for	2022-23	and	estimated	
revenue	surplus/	deficit	for	the	year	2023-24	and	compare	the	two.

c)	What	 do	 you	 think	 are	 the	 implications	 high	 revenue	 deficit	 in	 the	
government	budget

CASE STUDY 1.

Read	the	following	extract	carefully	and	answer	the	questions	that	follow:

Set	 Nirmala	 Sitharaman	 emphasized	 that	 this	 Budget	 continues	 to	 provide	
impetus	for	growth	It	lays	a	parallel	track	of	(1)	a	blueprint	for	the	Amrit	Kaal,	
which	is	futuristic	and	inclusive,	which	will	directly	benefit	our	youth,	women,	
farmers,	 the	 Scheduled	Castes	 and	 the	 Scheduled	Tribes	And	 (2)	 big	 public	
investment	for	modern	infrastructure,	readying	for	India	at	100	and	this	shall	
be	guided	by	PM	Gati	Shakti	and	be	benefited	by	the	synergy	of	multi-modal	
approach	Moving	 forward,	 on	 this	 parallel	 track,	She	 outlined	 the	 following	
four	priorities.

 y PM	Gati	Shakti
 y Inclusive	Development
 y Productivity	Enhancement	&	 Investment,	 Sunrise	Opportunities,	Energy	
Transition,	and	Climate	Action

 y Financing	of	Investments

Elaborating	 the	 PM	 GatiShakti,	 the	 Finance	 Minister	 said	 that	 it	 is	 a	
transformative	 approach	 for	 economic	 growth	 and	 sustainable	 development.	
The	approach	is	driven	by	seven	engines	namely,	Roads,	Railways,	Airports,	
Ports,	 Mass	 Transport,	 Waterways,	 and	 Logistics	 Infrastructure	 All	 seven	
engines	will	pull	forward	the	economy	in	unison.	These	engines	are	supported	
by	the	complementary	roles	of	Energy	Transmission,	IT	Communication,	Bulk	
Water	&	Sewerage,	and	Social	Infrastructure	Finally,	the	approach	is	powered	
by	 Clean	 Energy	 and	 Sabka	 Prayas	 the	 efforts	 of	 the	 Central	 Government,	
the	state	governments	and	the	private	sector	together-leading	to	huge	job	and	
entrepreneurial	opportunities	for	all,	especially	the	youth

a) Which	 objective	 of	 the	 government	 budget	 is	 being	 discussed	 in	 the	
above	extract?	Explain	briefly

b)	Explain	 one	 objective	 of	 the	 government	 budget	 other	 than	 the	 one	
identified	Above.
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UNIT 5: BALANCE OF PAYMENT 

Question	1:	Analyse	the	trade	deficit	of	India	on	the	basis	of	the	given	diagram.

Question	2:	find	the	value	of	current	account	balance	of	a	economy	on	the	basis	
of	given	data.

S.No. Items Amount	
(in	crores)

(i) Merchandise	exports 110
(ii) Merchandise	imports 110
(iii) Tourism 90
(iv) Net	Remittances	from	

abroad
(-)	40

Question	3:	The	given	figure	shows	which	implication	of	balance	of	payment	an	
Economy?	Explain.
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Case Study 1 
During	2022	China's	 exports	 to	 India	 climbed	 to	USD	118.5	billion,	 a	 year-
on-year	 increase	 of	 21.7	 percent.	 During	 2022,	 China's	 Imports	 from	 India	
dwindled	 to	USD	17.48	billion,	 a	 year	 on	 year	 decline	 of	 37.9	 percent.	The	
trade	deficit	for	India	stood	at	USD	101.02	billion,	crossing	the	2021	figure	of	
USD	69.38	billion.

The	Indian	Embassy	has	attributed	the	growth	of	deficit	with	China	to	two	
reasons-first	 narrow	 basket	 of	 goods	 for	 exports	 and	 second,	 market	 access	
barriers	in	areas	where	we	are	competitors.	(Source:	the	Economic	Times,	13	
January	2025)	

Question	1:	Analyze	the	trade	deficit		in	India's	trade	with	China.

Question	2:	What	 could	be	 the	 reasons	 for	 India's	 trade	deficit	 in	 trade	with	
China.

Case Study 2
India	and	Brazil	represent	unique	cases	of	economies	that	have	built	up	large	
levels	of	foreign.	Exchange	reserve	on	the	strength	of	their	capital	rather	than	
on	the	current	account	of	Balance	of	Payments.	India,	is	even	more	special	in	
this	regard	because	its	currency	is	relatively	stable	and	protected	from	risk	from	
frequent	trade	fluctuations	rather	than	Brazilian	currency	real.

In	 theory	 country	 can	 attract	 capital	 inflows	 to	finance	 a	 current	 account	
deficit	as	long	as	its	growth	prospects	are	good	and	the	investment	climate	is	
equally	good.

Question	1-How	does	India	finance	its	current	account	deficit?	
Question	2-In	which	type	of	environment	can	any	country	attract	more	capital	
flow?	
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FOREIGHT EXCHANGE RATE

Question	no-1-	Which	position	of	the	Indian	rupee	with	respect	to	the	dollar	is	
shown	in	the	diagram	below?

Question	no-2-Which	position	of	the	Indian	rupee	with	respect	to	the	dollar	is	
shown	in	the	diagram	below?

Question	 no-3-On	 the	 basis	 of	 the	 diagram	 given	 below,	 choose	 True/False	
about	statements.

Statement:	When	the	value	of	foreign	currency	increases,	its	demand	falls'	
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Case study 1: A	 country	 can	 gain	 an	 advantage	 in	 international	 trade	 if	 it	
controls	the	value	of	the	currency	less	than	other	currencies.	Some	claim	that	
in	the	early	twenty-first	century,	the	people's	Republic	of	China	has	been	doing	
this	for	a	long	time.	

Other	countries	including	Iceland,	Japan,	Brazil	etc.	have	had	a	policy	of	
maintaining	 a	 low	value	of	 their	 currencies	 in	 the	hope	of	 reducing	 the	 cost	
of	exports	and	 thus	strengthening	 their	economies.	A	 low	exchange	 rate	of	a	
country	lowers	the	price	of	exported	goods	for	the	consumers	in	other	countries,	
but	raises	the	price	of	imported	goods	for	the	consumers	in	a	country	with	a	low	
exchange	rate.	

Question-1	What	is	devaluation?	
Question-2	What	is	the	effect	of	devaluation	on	exports	and	imports	of	a	country.

Case study 2: 

The	rupee	depreciated	by	six	paise	to	82.01	against	the	US	dollar	in	early	
trade	on	Wednesday	amid	a	falling	trend	in	local	equity	markets	and	foreign	
capital	outflows.	In	interbank	forex	market,	the	rupee	was	trading	at	82.01	
per	dollar	after	opening	weak	of	82.00	per	dollar.	This	 is	a	fall	of	6	paise	
compared	to	the	previous	closing	level.	On	Tuesday,	the	rupee	had	closed	of	
81.95	per	dollar.

Question-1	 Information	given	above	pertains	 to	which	 type	of	exchange	 rate	
system?

Question-2	As	 a	 result	 of	 above	 given	 news,	what	will	 be	 the	 effect	 on	 the	
imports	of	India?

Answers: Balance of Payment

Answer	no-1:
Trade	deficit	in	2020=47.95-44.88=3·07	USD	
Trade	deficit	is	2021=51.13-45.48=5.65	USD
Trade	deficit	in	2022=69.35-57.03=12.32	USD	
The	 above	 calculations	 show	 a	 steady	 year	 on	 year	 increase	 in	 India's	 trade	
deficit,	meaning	that	imports	of	goods	&	services	have	grown	faster	than	exports	
of	goods	&	services.

Answer	no-2:
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Current	Account	Balance	=	(X-M)+NI+NT	
(X-Exports,	 M=Imports,	 NI-	 Net	 Income	 from	 foreign	 countries,	 NT=Net	
transfer)	
Current	Account	Balance=(i-ii)+iii+iv
	 	 	 =(120-110)+	90+(-40)
	 	 	 =10+90-40
	 	 	 =60	crores

Answer	 no-3:	 The	 figure	 given	 below	 shows	 an	 economy	 that	 finances	 its	
current	account	deficit	through	external	capital	inflows.	In	theory,	A	country	can	
attract	capital	inflows	to	finance	a	current	account	deficit	or	long	as	its	growth	
prospects	are	good	and	the	investment	climate	is	equally	good.

Case study 1:

Answer	no	(i)-India's	trade	deficit	with	China	stood	at	101.02	billion	US	dollar,	
crossing	the	2021	figure	of	69.38	billion	US	dollar.	Which	is	approx	45	percent	
more	than	2021.

Answer	no	(ii)-There	are	two	reasons	for	India's	trade	deficit	with	China.	
	 					(a)	Narrow	basket	of	goods	for	exports.	
	 					(b)	Market	access	barriers	in	areas	where	we	are	competitors.

Case study 2:

Answer:(i)	 India	 finances	 its	 current	 account	 deficit	 through	 external	 capital	
inflows.
Answer:(ii)	A	country	can	attract	more	capital	inflows	when	its	growth	prospects	
are	good	and	the	investment	climate	is	equally	good.

Answers:	Foreign	Exchange	Rate

Answer	no-1:	Due	to	increase	in	the	supply	of	dollar	(QQ'),	the	value	of	dollar	
has	decreased	i.c.	Indian	rupee	has	appreciated.

Answer	no-2:	Due	to	increase	in	the	demand	of	dollar	(QQ'),	the	value	of	dollar	
has	increased	i.e.	Indian	rupee	has	depreciated.	

Answer	 no-3:	 When	 the	 value	 of	 foreign	 currency	 increases,	 it's	 demand	
decreases.	This	statement	is	true.	As	the	value	of	dollar	increases	from	OR1,	to	
OR2,	the	demand	of	the	dollar	decreases	from	OQ1	to	OQ2. 
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Case study 1: 

Answer	no	(1)	When	the	value	of	domestic	currency	is	deliberately	set	lower	
than	 other	 foreign	 currencies	 by	 the	 Central	 bank	 of	 a	 country,	 it	 is	 called	
devaluation.	

Answer	 (ii)-Exports	of	 the	 country	become	cheaper	 and	 the	 imports	become	
expensive,	which	improves	the	Balance	of	Payments	of	the	country	

Case study 2:

Answer	no	1:	The	 above	 information	pertains	 to	 the	flexible	Exchange	Rate	
System.

Answer	no	2:	 India's	 imports	will	decrease	because	 the	 imports	will	become	
expensive	due	to	falling	rupees.
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CHAPTER 1: INDIAN ECONOMY ON THE EVE OF 
INDEPENDENCE

1.	 On	 the	 basis	 of	 the	 following	 picture,	 analyse	 the	 characteristics	 of	 the	
Indian	economy	at	the	eve	of	Independence.

(Ans	Hint:	At	the	eve	of	independence,	Indian	economy	was	a)	Backward	b)	
stagnant	c)	semi	feudal	d)	depleted	and	e)	amputated)

2.	 Look	at	the	picture	given	below:
In	context	of	foreign	trade	during	the	British	rule,	Identify	the	concept	exhibited	
in	the	above	pictures	and	explain	the	same.

(Ans	Hint:	Drain	of	Wealth)
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3.	 Study	the	picture	given	below.

a) On	the	basis	of	the	above	picture,	identify	the	characteristics	of	industrial	
sector	in	India	before	the	advent	of	british.

b)	Why	did	the	british	systematically	deindustrialise	the	Indian	economy?

Chapter-2

Indian	economy-1950-1990

1.	Study	the	following	picture	and	answer	the	questions	that	follow.
a) When	was	the	planning	commission	established	and	what	were	its	prime	
objectives?

b)	Which	is	the	successor	organisation	of	planning	commission	and	when	
was	it	established?

c)	What	 are	 the	 main	 differences	 between	 Planning	 commission	 and	 its	
successor	organisation?
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2.	

On	 the	 basis	 of	 the	 above	 picture,	 critically	 evaluate	 the	 economic	 policies	
pursued	by	the	Indian	Government	from	1950	to	1990.

CASE STUDIES

1.	Read	the	following	extract	carefully	and	answer	the	questions	that	follow:
Prior	 to	 the	 mid-1960s,	 increased	 crop	 production	 in	 India	 was	 largely	
achieved	 by	 expansion	 of	 cultivated	 area.	 To	 gain	 self-sufficiency	 in	 food	
grain	 production,	 a	 new	 agricultural	 strategy	 popularly	 known	 as	 the	 'Green	
Revolution'	was	implemented	in	the	mid-1960s.	This	strategy	involved	the	use	
of	modern	technology,	including	HYV	(high	yielding	variety)	seeds,	chemical	
fertilisers,	irrigation	facilities,	improved	farm	implements	and	crop	protection	
measures.	 It	 succeeded,	 and	 food	 self-sufficiency	 was	 attained.	 Food	 grain	
production	 increased	due	 to	both	extensification	and	intensification.	The	area	
under	 cultivation	 for	 food	 grain	 crops	 increased	 considerably.	 However	 the	
major	concern	for	the	scientists	and	policymakers	is	to	sustain	the	productivity	
in	order	to	achieve	food	security	to	the	fast	growing	population.

In	Punjab	and	Haryana	the	contribution	to	total	national	food	grain	production	
increased	from	3%	before	the	Green	Revolution	to	20%	at	present,	contributing	
50	and	85%	of	government	procurement	of	rice	and	wheat,	respectively.	The	
increases	achieved	by	the	Green	Revolution	have	created	several	environmental	
problems,	 viz.	 deforestation,	 waterlogging,	 salinity,	 alkalinity,	 soil	 erosion	
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and	decline	 and	 rise	of	 the	ground	water	 table	 linked	 to	brackish	water,	 etc.	
These	environmental	problems	became	evident	in	the	1980s,	and	are	becoming	
increasingly	prominent	through	time.

Increasing	 pressure	 of	 the	 population	 on	 the	 land	 dictates	 the	 need	 for	
potential	utilisation	of	all	available	land.	However,	large	parts	of	the	land	are	
degraded	by	 desertification,	 soil	 salinity,	waterlogging,	floods,	 and	 droughts,	
due	to	inefficient	agricultural	practices,	and	deforestation	has	caused	excessive	
soil	 erosion	 (Gill,	 1992;	Randhawa,	1992).	The	 increasing	demand	 for	 food,	
fodder,	fibre	and	fuel	can	only	be	met	through	bringing	more	of	these	degraded	
areas	into	cultivation

a) Highlight	the	benefits	of	green	revolution	for	Indian	economy.
b)	What	have	been	 the	major	environmental	and	economic	concerns	 that	
have	emerged	from	green	revolution?

CASE	STUDY	2:	READ	THE	FOLLOWING	IMAGE	CAREFULLHY	AND	
ANSWER	THE	QUESTIONS	THAT	FOLLOW:

a) There	was	an	export	surplus	 in	India's	 foreign	 trade	during	 the	British	
rule.	How	did	it	affect	the	India's	economy?

b)	What	were	 the	major	 features	 of	 foreign	 trade	 in	 India	 during	British	
rule?
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CHAPTER 3-ECONOMIC REFORMS SINCE 1991

PICTURE I

Q4. From the picture above,

4. What steps were taken by the government of India to achieve liberalisation 
in 1991?.

5. How does liberalisation differ from privatisation? 
(hint: discuss economic reforms of 1991)

PICTURE 2
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Q.	Answer	the	following	questions	based	on	the	data	above
1.	Which	economic	reforms	are	being	referred	to	in	the	above	data?	
2	Discuss	the	limitations	of	these	economic	reforms,	if	any.	

CASE 1

Three decades of economic reforms have ushered in a major tranformation in 
the size and quality of the economy, said Madan Sabnavis, Chief Economist 
of CARE rating agency, in an interview with Moneycontrol on July 1.

While reforms have put the economy on the fast track and made it comparable 
to th world's developed countries in terms of quality, the trickle-down effects 
have worked in a limited manner, Sabnavis said.

"The poor have become less poor; the rich have become much richer with 
inequality getting exacerbated. Further, those at the bottom 10 percent of the 
population still lack dignified living and it is more people in the middle and 
higher levels on the low-income scale, who have moved up," Sabnavis said.

Q.	Read	the	above	article	and	answer	the	questions	below:

1.	Discuss	the	main	features	of	the	economic	reforms	discussed	above.	
2	Critically	analyse	the	achievements	of	the	economic	reforms	since	1991.
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CHAPTER 4: HUMAN CAPITAL FORMATION

CASE STUDY:

1.	 Neha	is	a	bright	and	ambitious	young	girl	from	a	rural	area	in	India.	Her	
family	lives	in	poverty	and	she	had	to	walk	several	kilometers	to	reach	her	
school.	However,	despite	these	challenges,	Neha	was	determined	to	pursue	
her	education	and	build	a	better	future	for	herself.

After	 completing	 her	 school	 education,	 Neha	 received	 a	 scholarship	 to	
pursue	 her	 higher	 education	 in	 a	 reputed	 college	 in	 a	 nearby	 city	Neha	
worked	hard	and	completed	her	degree	with	flying	colors.	She	was	 then	
offered	a	job	by	a	multinational	company,	where	she	is	currently	employed.

As	an	economics	student,	answer	the	questions	of	the	given	case	study:
(i)	Analyze	the	case	study	and	suggest	measures	that	the	government	can	
take	to	promote	human	capital	formation	in	rural	areas.
(ii)	How	can	education	and	training	contribute	to	human	capital	formation?

PICTURE BASED QUESTION:

2.	 Interpret	the	given	picture	on	account	of	the	importance	and	objectives	of	
education.
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3.	 Interpret	the	given	picture	on	account	of	the	role	of	human	capital	formation	
enhancing	productivity	of	physical	capital

Source:NCERT, 22-23

ANSWER:

CHAPTER 4 HUMAN CAPITAL FORMATION 

(i)	Education	and	training	are	essential	contributors	to	human	capital	formation	
They	Help	individuals	develop	skills,	knowledge,	and	expertise	that	can	enhance	
their	 productivity	 and	 enable	 them	 to	 contribute	 to	 the	 economic	 growth	 of	
their	 communities	 Education	 can	 help	 individuals	 acquire	 basic	 literacy	 and	
numeracy	skills,	which	can	significantly	improve	their	ability	to	participate	in	
the	 labor	market	 and	 earn	 a	 decent	 livelihood.	 It	 can	 also	 equip	 individuals	
with	 the	 technical	 and	managerial	 skills	 necessary	 to	 start	 and	manage	 their	
businesses,	thereby	promoting	entrepreneurship
Training	programs	can	help	individuals	acquire	specialized	skills	and	knowledge	
that	are	 in	demand	 in	 the	 labor	market.	For	 instance,	vocational	 training	can	
help	individuals	acquire	skills	in	specific	trades,	such	as	carpentry,	plumbing,	
or	welding,	which	 can	 increase	 their	 employability	 and	 earning	potential.	 In	
addition,	 training	programs	can	also	help	individuals	acquire	soft	skills,	such	
as	 communication,	 teamwork,	 and	 problem-solving,	 which	 are	 essential	 for	
success	in	most	occupations.
Overall,	 education	 and	 training	 can	 significantly	 contribute	 to	 human	 capital	
formation	by	equipping	 individuals	with	 the	skills,	knowledge,	and	expertise	
necessary	to	contribute	to	the	economic	growth	of	their	communities

(ii)	Scholarships	and	other	forms	of	financial	assistance	can	play	a	crucial	role	
in	promoting	human	capital	formation	in	rural	areas.	They	can	help	to	bridge	
the	gap	between	the	financial	resources	available	to	students	and	the	costs	of	

with equal size of land, 
how is it that his yield is 

more than mine? 
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education	and	training.	By	providing	financial	support,	scholarships	and	other	
forms	of	assistance	can	help	students	from	low-income	families	to	pursue	higher	
education	 and	 training.	 which	 can	 significantly	 improve	 their	 employment	
prospects	and	earning	potential.

Scholarships	 can	 also	 help	 to	 encourage	 students	 to	 excel	 academically	 and	
promote	a	culture	of	meritocracy.	The	government	can	offer	scholarships	and	
grants	to	students	from	disadvantaged	backgrounds	or	those	who	demonstrate	
academic	excellence

Moreover,	providing	financial	assistance	for	vocational	education	and	training	
can	 help	 individuals	 acquire	 specific	 skills	 that	 are	 in	 demand	 in	 the	 labor	
market.	This	can	enhance	their	employability	ans	enable	them	to	contribute	to	
the	economic	growth	of	their	communities.

In	 summary,	 scholarships	 and	 other	 forms	 of	 financial	 assistance	 can	 help	
overcome	the	financial	barriers	to	education	and	training,	promote	meritocracy,	
and	improve	the	employability	of	individuals	from	rural	areas	

2.	Education	 is	a	 tool.	 It	enables	and	empowers	people;	 it	provides	one	with	
diverse	knowledge,	expertise,	and	skills	and	helps	develop	the	essential	skills	
in	life	Education	equips	people	with	the	basic	values	and	ethics	of	life	to	make	
them	sharp	and	clever	enough	to	deal	with	the	real	world

Objectives of Education 

a) Knowledge	 leads	 to	 effective	 interpersonal	 relationships	 and	 healthy	 life	
adaptations.	 Thus,	 knowledge	 acquisition	 should	 be	 a	 significant	 goal	 of	
education.	

b)	Develop	skills	for	the	assortment,	procurement,	arrangement,	and	utilization	
of	tools	and	materials	for	different	forms	of	productive	work.	It	also	helps	in	
incorporating	new	skills.

c)	Develop	self-esteem	and	confidence	through	accomplishment	in	productive	
work	and	services.

d) Develop	 a	 deeper	 opinion	 for	 the	 environment	 and	wisdom	of	 belonging,	
responsibility,	and	commitment	to	society.	It	helps	in	developing	a	sense	of	
belongingness	within	people.	

e) Develop	reverence	for	manual	work	and	regard	for	manual	workers	 in	 the	
community	to	give	them	the	utmost	respect.
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f)	Develop	work	habits	such	as	punctuality,	honesty,	discipline,	efficiency,	and	
dedication	to	duty.

g)	Develop	self-esteem	and	self-assurance	through	achievements	in	productive	
works	and	services	in	various	fields.

h) Develop	 a	 deeper	 apprehension	 for	 the	 environment	 and	 a	 sense	 of	
belongingness,	 responsibility,	 and	 commitment	 to	 society	 to	 ensure	 the	
community's	welfare	Develop	alertness	of	socio-economic	problems	of	 the	
society	to	ensure	people	about	the	changes	if	made.

 
3.	One	worker	who	has	completed	his	 training	and	can	handle	 the	 tools	 and	
machines	in	a	better	way	enliance	productivity	as	compared	to	the	unskilled	and	
uneducated	worker.	Therefore,	Human	capital	formation	increases	productivity,	
which	means	the	generation	of	per-unit	output	will	be	higher	as	compared	to	
unskilled	workers



Class XII : Economics (English)177

CHAPTER 5: RURAL DEVELOPMENT

CASE STUDY:

1.	 The	 village	 of	 Karimnagar	 in	 the	 state	 of	 Telangana	 is	 predominantly	
agricultural,	with	most	of	the	villagers	engaged	in	farming.	However,	the	village	
lacks	basic	amenities	such	as	good	roads,	electricity,	and	access	to	clean	water.	
As	a	result,	the	village	is	struggling	to	improve	its	agricultural	productivity,	and	
the	villagers	are	living	in	poverty

The	government	has	decided	to	take	steps	to	improve	the	village's	infrastructure	
and	help	the	villagers	improve	their	standard	of	living.	
As	an	economics	student,	answer	the	questions	of	a	given	case	study

(i)	 What	 are	 the	 benefits	 of	 agricultural	 development	 in	 promoting	 rural	
development?		(ii)	What	are	some	of	the	key	factors	that	the	government	needs	
to	consider	when	implementing	rural	development	programs?

PICTURE BASED QUESTION:

2.	 Interpret	 the	 given	 picture	 on	 account	 of	 the	 problem	 of	 disguised	
unemployment	in	India.	
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3.	Taking	 cue	 from	 the	 image	given	below,	 state	 the	need	 for	 rural	 credit	 in	
farming.

ANSWERS

CHAPTER 5: RURAL DEVELOPMENT

1	Benefits	of	agricultural	development	is	promoting	rural	development:	
a) Improved	agricultural	productivity	leads	to	increased	income	for	farmers	and	
better	standard	of	living.

b)	Agricultural	development	can	create	employment	opportunities	in	the	rural	
areas.

c)	Increased	Agricultural	 production	 can	 help	 reduce	 food	 insecurity	 in	 the	
region.

d) The	surplus	agricultural	products	can	be	sold	in	the	market,	increasing	the	
income	of	farmers	and	the	economic	growth	of	the	region.

e) The	 development	 of	 agro-processing	 industries	 can	 create	 further	 job	
opportunities	and	increase	the	value	of	agricultural	products.

OR	
Key	 factors	 that	 the	government	needs	 to	 consider	when	 implementing	 rural	
development	programs.
a) Access	 to	basic	amenities	such	as	clean	water,	electricity,	good	roads,	and	
communication	facilities	is	essential	for	rural	development.

b)	Entrepreneurship	development	programs,	training,	and	financial	support	can	
help	promote	 local	 businesses	 and	 create	 employment	opportunities	 in	 the	
area .

c)	Developing	the	agricultural	sector	and	supporting	farmers	is	crucial	for	rural	
development.
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d) Providing	education	and	healthcare	facilities	is	important	for	improving	the	
quality	of	life	and	creating	a	skilled	workforce.

e) Environmental	sustainability	and	conservation	should	be	integrated	into	rural	
development	plans	to	avoid	any	negative	impact	on	the	environment.	

f)	Community	participation	and	involvement	in	the	planning	and	implementation	
of	rural	development	programs	are	critical	for	their	success.

g)	The	government	 should	 ensure	 the	 equitable	distribution	of	 resources	 and	
benefits	among	all	members	of	the	community.

h) The	government	should	monitor	and	evaluate	the	impact	of	rural	development	
programs	to	ensure	their	effectiveness	and	make	necessary	adjustments

PICTURE BASED QUESTIONS:

2.	The	situation	of	underemployment	is	referred	to	as	the	situation	when	people	
are	apparently	working	but	all	of	them	are	made	to	work	less	than	their	potential.		
In	this	case,	the	person	considers	himself	employed	but	is	actually	not	working.	
In	 rural	 areas,	 where	 agriculture	 is	 the	main	 source	 of	 income,	 this	 kind	 of	
unemployment	can	be	seen	often.	If	a	piece	of	land	requires	only	three	people	to	
work	on	it	and	instead	five	people	are	working	on	it,	then	the	two	extra	people	
are	said	to	be	in	a	situation	of	disguised	unemployment.

3.	The	 limited	number	of	banks	 that	are	available	 in	 the	rural	areas	prefer	 to	
forward	 credit	 to	 the	 farmers	 with	 large	 land-holdings.	 Getting	 credit	 from	
banks	being	difficult,	the	small	and	marginal	farmers	fall	easy	prey	to	the	money	
lenders.	The	Infusion	of	credit	is	very	essential	for	the	growth	of	the	agricultural	
sector,	leading	to	rural	economic	development.	The	importance	of	credit	in	rural	
development	is	highlighted	in	the	following	points:
a) Credit	 helps	 the	 farmers	 to	 commercialize	 their	 farming.	 In	 other	 words,	
commercial	farming	requires	funds	that	are	provided	via	credit.	As	the	small	
and	marginal	farmers	produce	only	for	their	subsistence,	they	fail	to	generate	
sufficient	surplus	to	reinvest	on	their	lands	leading	to	degradation	of	the	land.

b)	Given	the	long	gestation	period	between	sowing	and	harvesting	of	the	crops,	
credit	is	extended	to	the	farmers	for	meeting	their	initial	requirements	of	farm	
inputs	like	seeds,	fertilizers,	etc

c)	Credit	 saves	 the	 farmers	 from	 the	 vicious	 circle	 of	 poverty.	 The	 farmers	
require	funds	for	meeting	their	general	and	specific	needs.	These	needs	are	to	
be	fulfilled	via	credit

d) Lastly,	agriculture	has	always	been	dependent	on	the	vagaries	of	climate	In	
the	Absence	of	a	good	monsoon	or	crop	failure,	 farmers	are	hurt.	Thus,	 in	
order	to	save	them	from	such	tragedy,	crop	insurance	and	farm	credit	plays	a	
vital	role
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CHAPTER 6: EMPLOYMENT

4.	 Study	 the	 following	 picture	 and	 identify	 the	 type	 of	 employment.	Also	
identify	the	sector	to	which	they	belong.

5.	 Study	the	following	chart	and	analyze	the	gender	wise	employment	patterns	
Cite	reasons	For	the	same.

Case study

In	 2014-15,	 the	 latest	 year	 for	which	 the	 numbers	 are	 available,	 as	much	 as	
93.9%	of	the	addition	to	the	workforce	in	the	formal	manufacturing	sector	was	
hired	through	contractors	That	means	these	people	weren't	directly	employed	by	
the	manufacturing	companies.	At	a	time	when	the	government	is	talking	of	the	
benefits	of	formalizing	the	informal	sector,	what	we're	seeing	is	the	increasing	
informalization	of	the	workforce	in	the	organized	sector.

The	 year	 2014-15	 was	 an	 exceptionally	 bad	 one	 from	 the	 point	 of	 view	 of	
additional	 direct	 employment	 in	 manufacturing	 But	 the	 trend	 towards	 the	
casualization	of	 labour	 is	 unmistakable.	The	 accompanying	 chart	 shows	 that	
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the	 number	 of	 contractual	 employees	 is	 growing	 by	 leaps	 and	 bounds-they	
accounted	for	16%	of	the	total	manufacturing	workforce	in	the	formal	sector	in	
1998-99	and	by	2014-15	they	were	35%

Based	on	the	above	extract,	answer	the	following	questions.

1.	 What	is	meant	by	informalization	of	the	workforce?	
2.	 State	 the	 steps	 taken	by	 the	government	 to	 improve	 the	 status	of	people	

working	in	the	informal	sector
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CHAPTER 7: ENVIRONMENT AND SUSTAINABLE 
DEVELOPMENT

CASE STUDY

3.	 India	is	one	of	the	world's	fastest-growing	economies	and	its	energy	needs	
have	also	been	growing	rapidly	The	government	of	India	has	been	working	
to	 address	 the	 country's	 energy	 needs	 while	 ensuring	 environmental	
sustainability	One	of	the	major	initiatives	taken	by	the	government	in	this	
direction	is	the	promotion	of	solar	energy	The	Jawaharlal	Nehru	National	
Solar	Mission	UNNSM)	was	launched	in	2010	to	promote	the	use	of	solar	
energy	in	India.	The	goal	was	to	install	20	GWof	solar	power	cap	by	2022	
However,	this	target	was	later	increased	to	100	GWby	2022,	and	as	of	March	
2021,	India	had	achieved	a	total	installed	capacity	of	over	40	GWof	solar	
energy.	The	solar	power	revolution	has	had	a	significant	impact	on	India's	
economic	development.	It	has	created	a	massive	demand	for	solar	panels,	
which	has	led	to	the	growth	of	a	solar	equipment	manufacturing	industry	in	
India.	This	has	provided	employment	opportunities	for	thousands	of	people	
and	 has	 helped	 to	 boost	 the	 country's	manufacturing	 sector.	 In	 addition,	
the	solar	power	revolution	has	also	helped	to	reduce	India's	dependence	on	
imported	foul	faels,	which	has	improved	the	country's	energy	security.	

This	 has	 had	 a	 positive	 impact	 on	 India's	 balance	 of	 payments	 and	 has	
helped	to	reduce	its	trade	deficit.	The	solar	power	revolution	has	also	had	a	
significant	impact	on	the	environment.	It	has	helped	to	reduce	greenhouse	
gas	emissions,	which	has	contributed	to	the	fight	against	climate	change.	
The	use	of	 solar	 energy	has	 also	 reduced	 ar	 pollution,	which	 is	 a	major	
problem	in	many	Indian	Cities.

Despite	the	success	of	the	solar	power	revolution,	there	are	still	challenges	
that	 need	 to	 be	 addressed.	 One	 of	 the	 major	 challenges	 is	 the	 lack	 of	
adequate	infrastructure	for	the	distribution	and	storage	of	solar	energy.	This	
has	resulted	in	a	situation	where	much	of	the	solar	energy	generated	in	India	
is	wasted	due	to	a	lack	of	storage	capacity:	Another	challenge	is	the	high	
initial	cost	of	installing	solar	power	infrastructure,	which	is	often	prohibitive	
for	many	individuals	and	businesses.	The	government	has	addressed	this	
issue	by	offering	vanous	subsidies	and	incentives	for	the	adoption	of	solar	
energy	 In	 conclusion,	 India's	 solar	 power	 revolution	 is	 a	 prime	 example	
of	how	sustainable	economic	development	can	be	achieved.	 It	has	had	a	
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positive	 impact	on	 the	economy,	 the	environment,	and	on	people's	 lives.	
The	 government's	 continued	 support	 for	 this	 initiative	will	 be	 crucial	 in	
encuring	that	India	achieves	its	ambitious	target	of	100	GW	of	solar	power	
capacity	by	2022

How	has	the	use	of	solar	energy	helped	to	address	environmental	issues	in	
India?	OR	How	can	the	lessons	learned	from	India's	solar	power	revolution	
be	applied	to	other	countries	looking	to	adept	sustainable	energy	practices?

PICTURE BASED QUESTION:

2.	Interpret	the	given	picture	on	account	of	factors	triggering	the	environmental	
crisis.

Source: https://www/futurelearn.com/info/futurelearn-international/impacts-climate-change-
in-nigeria 

3.	Interpret	the	given	picture	on	account	of	how	reliance	on	conventional	sources	
of	energy	is	harmful	for	our	environment	and	what	is	the	way	ahead?

Source: https"//www.toppr.com/guides/physics/sources-of-energy/non-convertional-sources-of-
energy.
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ANSWERS

CHAPTER 7 SUSTAINABLE ECONOMIC DEVELOPMENT

1.	The	use	of	solar	energy	has	helped	to	address	environmental	issues	in	India	
in	several	ways	First	it	has	reduced	green	house	gas	emissions,	which	is	a	major	
contributor	to	climate	change.	Solar	energy	is	a	clean,	renewable	energy	source	
that	does	not	emit	any	greenhouse	gasses	during	its	operation.	Second,	it	has	
reduced	air	pollution,	which	is	a	significant	problem	in	many	Indian	cities.	The	
use	of	solar	energy	reduces	the	need	for	fossil	fuel	power	plants,	which	emit	
pollutants	 that	 can	harm	human	health	and	 the	environment.	Finally,	 the	use	
of	solar	energy	has	reduced	water	consumption,	which	is	a	critical	 issue	in	a	
country	 like	 India,	where	water	 scarcity	 is	 a	 significant	 problem	Traditional	
power	plants	require	large	amounts	of	water	for	cooling,	whereas	solar	power	
plants	require	no	water	for	their	operation	

OR
The	lessons	learned	from	India's	solar	power	revolution	can	be	applied	to	other	
countries	looking	to	adopt	sustainable	energy	practices	in	several	ways.	First,	
the	 Indian	government's	 focus	on	promoting	 the	use	of	 solar	 energy	 through	
policy	incentives	and	subsidies	can	be	replicated	in	her	countries.	This	approach	
can	help	to	overcome	the	initial	high	cost	of	installing	solar	power	infrastructure,	
which	can	be	prohibitive	for	many	individuals	and	businesses	Second	India's	
experience	 highlights	 the	 importance	 of	 developing	 local	 manufacturing	
capabilities	for	solar	equipment.	This	can	help	to	create	employment	opportunities	
and	 boost	 the	 country's	 manufacturing	 sector	 Third,	 India's	 experience	 also	
shows	the	importance	of	developing	adequate	infrastructure	for	the	distribution	
and	storage	of	solar	energy.	This	is	crucial	to	ensure	that	the	energy	generated	is	
not	wasted	and	can	be	used	when	needed.	Finally,	India's	solar	power	revolution	
highlights	 the	 importance	 of	 setting	 ambitious	 targets	 and	 working	 towards	
them	This	can	help	to	create	a	sense	of	urgency	and	momentum,	which	can	help	
to	drive	progress	towards	achieving	sustainable	energy	goals.

2.	Environmental	crisis	refers	to	any	phenomenon	which	is	known	to	affect	a	
given	system's	ability	of	 self	 remediation.	The	 image	above	shows	a	case	of	
drought	leading	to	cracks	on	land	and	infertility	of	soil.

Principal	causes	of	current	environmental	crisis	are	as	under:
a) Population	 Explosion:	 Pressure	 of	 population	 on	 land	 has	 tremendously	
increased	and	consequently,	land	has	been	ruthlessly	exploited.	It	has	caused	
substantial	conversion	of	forest	land	into	industrial	and	residential	buildings.
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b)	Increasing	 Urbanization:	 Increasing	 urbanization	 has	 caused	 pressure	 on	
housing	and	other	civic	amenities.	It	has	resulted	in	increasing	demand	for	
land	and	excessive	exploitation	of	other	natural	resources.

c)	Rapid	 Industrialisation	 Rapid	 industrialisation	 has	 also	 contributed	 to	 air,	
water	and	noise	pollution.	Industrial	smoke	is	a	serious	pollutant.

3	 Reliance	 on	 conventional	 sources	 of	 energy	 is	 a	 warning	 sign	 for	 the	
environment.	Further,	most	of	energy	needs	of	India	are	met	through	thermal	
and	 hydro	 power	 plants.	 They	 are	 hazardous	 for	 the	 environment	 and	 its	
functioning.	Thermal	power	plants	emit	large	quantities	of	greenhouse	gasses,	
particularly	 CO2,	 while	 the	 hydro	 power	 plants	 disrupt	 the	 natural	 flow	 of	
water	in	the	catchment	as	and	the	river	basin	Accordingly,	we	should	focus	on	
generating	power	 from	 solar	 energy	 and	wind	 energy	which	 are	 cleaner	 and	
greener	sources	of	energy.
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CHAPTER 8-COMPARATIVE DEVELOPMENT EXPERIENCES 
OF INDIA AND ITS NEIGHBOURS

PICTURE I

%GDP	Growth	Rate	Comparison	of	CIP

Q	Based	on	the	above,	compare	the	percentage	GDP	growth	rate	of	the	three	
countries.	Cite	reasons	for	the	same

PICTURE 2

Q.	Study	the	data	above	and	answer	the	following
4.	 Which	sector	was	the	main	driver	of	growth	for	China	and	India	respectively?
5.	 Compare	and	contrast	the	sectoral	composition	and	occupational	structure	

of	the	two	countries	
(hints	 (1)	Though	 service	 sector	 contributes	most	 in	 both	 the	 countries,	
contribution	 of	 industrial	 sector	 in	 China	 is	 far	 more	 significant	 as	
compared	to	India.	(2)	Employment	in	various	sectors	in	both	countries	to	
be	discussed)

CASE 1

After	 over	 two	 centuries	 of	 being	 the	world's	most	 populous	 country,	China	
is	expected	to	be	overtaken	by	India	on	July	1.	The	epochal	potential	of	 this	
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UNFPA	estimate	is	rooted	in	the	idea	that	while	India's	demography	shall	keep	
pushing	growth,	China's	shrinking	population	shall	shrink	 its	 future.	But	 this	
idea	of	demography	being	destiny	has	a	huge	caveat,	related	to	the	quality	of	
the	human	capital	concerned.	The	statements	coming	out	of	Beijing	are	seeking	
to	 downplay	 the	 population	 trend,	 but	 they	 make	 fair	 point	 in	 underlining	
their	 "high-calibre	workforce".	 India	 simply	 cannot	 afford	 any	 complacency	
about	being	the	country	with	a	254	million	cohort	aged	15-24	years	but	must	
instead	work	with	full	energy	to	ensure	many	more	of	them	can	cash	the	"talent	
dividend"	advantage	that	Chinese	officials	are	currently	boasting
(times	of	india)

Q	Read	the	article	above	and	answer	the	following
1.	 Why	is	China	worried	about	its	population?
2.	 Discuss	the	quality	of	human	capital'	as	discussed	in	the	article	above	
3.	 What	advantage	does	India	have	over	China	according	to	the	above	article?

(Hints: 1 Increasing dependant population and falling working population: 2 
Refers to human capital available in terms of level of education and health. 3 
India has a large population in the age group of 15 to 24 yrs which is productive 
age group)
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PRACTICE PAPER-I 

ECONOMICS (030)
Class XII Session 2023-24

Time:	3	Hours		 	 	 	 	 	 	 	 	 	 	 	 	Max.	Marks:	
80
General	Instructions:

1.	 This	question	paper	contains	two	sections:
	 Section	A-	Macro	Economics	
	 Section	B-	Indian	Economic	Development
2.	 This	 paper	 contains	 20	 Multiple	 Choice	 questions	 type	 questions	 of	 1	

mark,each.
3.	 This	paper	contains	4	Short	Answer	Questions	type	questions	of	3	marks	

such	to	be	answered	in	words.
4.	 This	paper	contains	6	Short	Answer	Questions	type	questions	of	4	marks	

each	to	be	answered	in	80	to	100	words.
5.	 This	paper	contains	4	Long	Answer	Questions	type	questions	of	6	marks	

each	to	be	answered	in	100	to	150	words

Section A-Macro Economics

Multiple	Choice	Questions	(Q1	to	Q10)	 	 	 	 (1	x	10=10)

1.	 Which	 our	 of	 the	 following	 is	 a	 monetary	 measure	 to	 correct	 deficient	
demand?
a) Reduce	government	spending			 b)	Lowering	margin	requirements
c)	Increase	government	spending		 d)	None	of	these

2.	 Read	the	following	statements-Assertion	(A)	and	Reason	(R).	Choose	one	
of	the	correct	alternates	given	below:
Assertion	 (A):	 Fiscal	 deficit	 shows	 a	 better	 position	 of	 the	 government	
expenditure	in	comparison	budget	deficit.	
Reason	(R):	Fiscal	deficit	reflects	borrowings	requirement	of	the	government.	
Alternatives:	
a) Both	Assertion	(A)	and	Reason	(R)	are	true	and	Reason	(R)	is	not	 the	
correct	explanation	of	Assertion	(A)

b)	Both	Assertion	(A)	and	Reason	(R)	are	true	and	Reason	(R)	is	the	correct	
explanation	of	Assertion	(A).
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c)	Assertion	(A)	is	false	but	Reason	(R)	is	true
d) Assertion	(A)	is	true	but	Reason	(R)	is	false

3.	 The	two	key	constituents	of	aggregate	demand	are
a) Investment	and	growth		 	 b)	Consumption	and	Investment
c)	 Both	(a)	and	(b)		 	 	 d)	Neither	(a)	nor	(b) 

or
Which	of	the	following	is	not	a	reason	for	excess	demand?
a) Deficit	financing	 	 b)	Fall	in	the	propensity	to	consume
b)	Rise	in	aggregate	demand		 d)	Increase	in	investments

4.	 Suppose	 you	 are	 a	 member	 of	 the	Advisory	 Committee	 to	 the	 Finance	
Minister	of	India	The	Finance	Minister	concerned	about	the	rising	revenue	
deficit	in	the	budget	Which	of	the	following	measures	can	be	used	to	control	
the	rising	revenue	deficit	of	the	government?	
a) Increase	taxation
b)	Reduce	government	administrative	expense	 	 	 	
c)	Reduce	the	burden	at	subsidy
d) Any	of	these

or
Which	of	the	following	is	the	implication	of	revenue	deficit?

i) A	high	revenue	deficit	shows	fiscal	indiscipline.
ii) It	shows	wasteful	expenditure	of	government	on	administration.
iii) It	implies	that	government	is	dissaving.
(a)	i),	ii)	and	iii)	 (b)	i)	and	ii)	 c)	ii)	and	iii)	 (d)	i)	and	ii)

5.	 Read	the	following	statements	carefully:
Statement	 1:	 Sector	 which	 transforms	 one	 physical	 good	 into	 another	
physical	good	is	tertiary	sector.
Statement	2:	Consumption	of	fixed	capital	refers	to	fall	in	the	value	of	fixed	
assets	due	to	normal	wear	tear	and	foreseen	obsolescence.
In	the	light	of	the	given	statements	choose	the	correct	alternative	from	the	
following:	
a) Statement	1	false	and	statement	2	is	true	
b)	b)	Statement	1	is	true	and	statement	2	is	false
c)	Both	statements	1	and	2	are	false	 	
d) Both	statements	1	and	2	are	false
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6.	 Read the	following	statements-Assertion	(A)	and	Reason	(R),	Choose	one	
of	the	correct	alternatives	given	below:
Assertion	(A)	Average	Propensity	to	Consume	can	be	greater	than	one.
Reason	(R)	Consumption	can	be	greater	than	income	in	an	economy.	
Alternatives:
a) Both	Assertion	A)	 and	Reason	 (R)	 are	 true	 and	Reason	 (R)	 is	 not	 the	
correct	explanation	of	Assertion

b)	Both	Assertion	(A)	and	Reason	(R)	are	true	and	Reason	(R)	is	the	correct	
explanation	of	Assertion.

c)	Assertion	(A)	is	false	but	Reason	(R)	is	true
d) Assertion	(A)	is	true	but	Reason	(R)	as	false

7.	 Read	the	following	statements	carefully
Statement	1:	When	the	consumption	expenditure	is	more	than	the	income,	
the	value	of	APS	will	be	negative.
Statement	2:	 If	Marginal	Propensity	 to	Save	 (MPS)	 is	equal	 to	zero,	 the	
value	of	investment	multiplier	will	be	not	defined	(			).
In	the	light	of	the	given	statements,	choose	the	correct	alternative	from	the	
following:
e) Statement	1	is	false	and	statement	2	is	true	
f)	Statement	1	true	and	Statement	2	is	false	
g)	Both	statements	1	and	2	are	false	
h) Both	statements	1	and	2	are	true

8.	 The	following	information	is	given	for	an	imaginary	country
S.No (all	figures	in	lakh)

(i) Durable	 use	 producer	 goods	with	 a	 life	
span	of	10	years

10

(ii) Single	use	producer	goods 5
(iii) Sales 20
(iv) Unsold	output	produced	during	the	year 2
(v) Taxes	on	production 1

Identify	the	correct	value	of	NVAFC	from	the	given	options:
a) 10	lakh
b)	20	lakh
c)	15	lakh
d) 25	lakh

ȣ
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OR
Read	the	following	figure	carefully	and	chose	the	correct	options	from	the	
alteratives	given	below:

Alteratives
a) Real
a) Circular
b)	Nominal
c)	Either	(a),	(b),	or	(c)

9. Read	the	following	statements	carefully:
Statement	1:	Excess	supply	is	the	situation	under	which	aggregate	demand	
exceeds	aggregate	supply	corresponding	to	full	employment	level.
Statement	2.	Excess	demand	is	the	situation	under	which	aggregate	demand	
falls	short	of	aggregate	supply	corresponding	to	full	employment	level.
In	the	light	of	the	given	statements	chose	the	correct	alternative	for	the	from	
the	following:
a) Statement	1	is	false	and	statement	2	true.
b)	Statement	1	is	true	and	statement	2	is	false.
c)	Both	statements	1	and	2	are	false.
d) Bothe	statements	1	and	2	are	true.

10.	 Identify	the	correct	pair	from	the	following	Column	I	and	Column	II.
Column	I Column	II

A. Excess	demand (i) When	AD	is	exceeds	AS	at	 the	
full	employment	level	of	income

B. Inflationary	gap (ii) Ratio	of	change	in	consumption	
expenditure	to	change	in	income

Household Sector

Flow_____

Producing Sector

Factor Payments 
(Rent, Wages,
Interest, Profit)

Consumption 
expenditure 
(goods and 
services)
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C. Autonomous consumption (iii) When AD less than AS at the full 
employment level of income

D. Marginal Propensity to 
Save

(iv) Consumption expenditure 
planned to be incurred during 
given period

Alternatives:
(a) C-(iii)  (b) A-(i)  (c) D-(iv)  (d) B-(ii)

Short Answer Questions (Q11 to Q12)

11. Read the given text carefully and answer the questions that follow:
Money was historically an emergent market phenomenon that possess 
intrinsic value as a commodity nearly all contemporary money systems are 
based on unbacked fiat money without use value. It value is consequently 
derived by social convention, having been declared by a government or 
regulatory entity to be legal tender: that it must be accepted as a form of 
payment within the boundaries of the country, for all debts, public and 
private in the case of the United States dollar. Contexts which erode public 
confidence, such as the circulation of counterfeit money or domestic 
hyperinflation, can cause good money to lose its value.
i) What is fiat Money?
ii) when is there a risk of a fall in the value of a fiat money? 

12. Explain "Bankers bank" function of the Central Bank
or

What do you know about the following?

(i) full bodied money.  (ii) High powered money.

Short Answer Questions (Q13 to Q15)

13. Explain the problem of double counting in the estimation of national income 
with the help of an example. How can this problem be avoided?

or
What are "non-monetary exchanges" Explain with suitable examples how 
they are a limitation of the GDP as an indicator of welfare.
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14.	 Find	Gross	Value	Added	at	Market	Price	from	the	given	data:
(Lakh)

(i) Depreciation 20
(ii) Domestic	sales 200
(iii) Net	change	in	stocks (-)10
(iv) Exports 10
(v) Single	use	producer	goods 120

15.	 Read	the	given	text	carefully	and	explain	the	basis	of	classifying	taxes	into	
direct	and	indirect	with	examples.	
To	run	a	nation	judiciously,	the	government	needs	to	collect	tax	from	the	
eligible	citizens	using	to	government	is	an	integral	part	of	everyone's	life,	no	
matter	where	we	live	in	the	world.	Now,	taxes	can	be	collected	in	any	form	
such	as	state	taxes,	central	government	taxes,	direct	taxes,	indirect	taxes,	
and	much	more.	For	your	ease,	taxation	is	divided	into	two	categories.	viz	
direct	taxes	and	indirect	taxes.	This	segregation	is	based	on	how	the	tax	is	
being	paid	to	the	government.

Long Answer Questions (Q16 to Q17)

16.	 (i)	On	the	basis	of	given	figures	interpret	India's	performance	in	balance	of	
trade.

(ii)	Distinguish	between	depreciation	of	a	currency	and	devaluation	of	a	
currency.

17.	 Draw	a	hypothetical	propensity	to	consume	curve	and	from	it,	derive	the	
propensity	to	save	curve.	Explain	the	steps	involved.

or
Explain	the	"Consumption	Function	with	the	help	of	a	schedule	and	diagram.
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Section B-Indian Economic Development

Multiple Choice Questions (Q18 to Q27) 

18.	 In	which	of	the	following	areas,	Pakistan	has	an	edge	over	India?
i) Export	of	software	after	economic	reforms
ii) Number	of	Phd's	produced	in	science	and	engineering	every	year.
iii) Percentage	of	undernourished	children	
(a)	(i)	and	(iii)	 (b)	(i)	and	(ii)	 							(c)	only	(iii)	 (d)	(i)	and	(ii)

19.	 Read	the	following	statements	carefully:
Statement	1:	In	1997,	a	UN	conference	on	climate	change	was	held	in	Japan
Statement	2:	Global	warming	refers	to	the	destruction	of	ozone	in	the	ozone	
layer,	due	to	presence	of	chlorine	from	man-made	chlorofluorocarbons	and	
other	forces.
In	the	light	of	the	given	statements,	choose	the	correct	alternative	from	the	
following:	
a) Statement	is	false	and	statement	2	is	true	
b)	Statement	is	true	and	statement	21	is	false
c)	Both	statements	1	and	2	are	false
d) Both	statements	1	and	2	are	true

20.	 What	is	the	full	form	of	PPP	in	terms	of	Gross	Domestic	Product?	
a) Purchasing	Power	Price
b)	Purchasing	Power	Parity
c)	Public	Private	Partnership
d) None	of	these

21.	 Read	the	following	statements	carefully:
Statement	1:	Sarva	Siksha	Abhiyan	(SSA)	was	launched	in	2000	to	ensure	5	
years	of	primary	education	children	in	the	age	group	of	6-14	years	by	2007	
and	8	years	of	schooling	by	2010.
Statement	 2:	National	 Programme	 for	 Education	 of	Girls	 at	 Elementary	
Level	was	launched	in	2003,	under	SSA,	for	providing	additional	support	
for	education	of	under-priviliged	girls	at	the	elementary	level.
In	the	light	of	the	given	statements,	choose	the	correct	alternative	from	the	
following:
a) Statement	1	is	false	and	statement	2	is	true
b)	Statement	is	me	and	statement	2	is	false
c)	Both	statements	1	and	2	are	false
d) Both	statements	1	and	2	are	true
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22.	 Which	of	the	following	are	major	fish	producing	states	in	India?
a) Odisha
b)	Gujarat
c)	Maharashtra
d) Andhra	Pradesh
(a)	(i),	(ii)	and	(iii)	
(b)	(i),	(ii)	and	(iv)	
(c)	(i),	(ii)	and	(iv)				
(d)	(ii),	(iii)	and	(iv)

or
Surplus	population	engage	in	agriculture	can	be	employed	in:

a) Fisheries
b)	Horticulture	
c)	Animal	husbandry
d) Any	of	these

23.	 Read	the	following	statements	Assertion	(A)	and	Reason	(R)	Choose	one	of	
the	correct	alternative	given	below:
Assertion	(A)	Pakistan	shifted	its	policy	orientation	in	late	1970s	and	1980s.
Reason	(R):	A	variety	of	 regulated	policy	framework	after	 independence	
lead	to	slow	growth	of	Pakistan.
Alternatives	
a) Both	Assertion	(A)	and	Reason	(R)	are	true	and	Reason	(R)	is	not	 the	
correct	explanation	of	Assertion	(A)	

b)	Both	Assertion	(A)	and	Reason	(R)	are	true	and	Reason	(R)	is	the	correct	
explanation	of	Assertion.

c)	Assertion	(A)	is	false	but	Reason	(R)	is	true	
d) Assertion	(A)	is	tile	but	Reason	(R)	false

24.	 China	 moving	 ahead	 of	 India	 and	 Pakistan	 is	 true	 for_____________
indicator.
a) HDI	ranking	
b)	GDP	per	capita	
c)	Proportion	of	population	below	poverty	line
d) All	of	these

or
A	 campaign	 in	 China	 in	 1958	where	 people	were	 encouraged	 to-set	 up	
industries	in	their	backyard	was	named	as:
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a) Anti-rightist	Movement	
b)	Great	Leap	Forward
c)	Four	Pests	Campaign
d) Great	Proletarian	Cultural	Revolution

25.	 Match	 the	situations	given	 in	Column	I	with	 their	 respective	 implication	
given	in	Column	II	and	chose	the	correct	alternative:

Column I Column II
A. White	revolution (i) It	is	also	known	as	the	Neel	Kranti	

Mission
B. Blue	revolution (ii) It	was	found	by	MIS	Swammathan
C. Golden	revolution (iii) It	 is	 also	 known	 as	 Operation	

Flood
D. Green	revolution (iv) It	is	related	to	increased	production	

of	honey	and	horticulture
Alternative:
a) A-(iii)	B-(iv).	C-(ii),	D-(i)
b)	A-(iii),	B-(i).	C-(ii),	D-(iv)	
c)		A-(iii).	B-(ii),	C-(i),	D-(iv)
d) A-(iii),	B-(i),	C(iv),	D-(ii)

26.	 Read	the	following	statements-Assertion	(A)	and	Reason	(R).	Choose	one	
of	the	correct	alternanses	given	below	Assertion	(A);	International	monetary	
fund	was	set	in	1944	.
Reason	 (R):	 To	 promote	 international	 monetary	 cooperation	 through	 a	
permanent	 institution	 which	 provides	 machinery	 for	 consultation	 and	
collaboration	on	international	monetary	problems.

Alternatives:
a) Both	Assertion	(A)	and	Reason	(R)	are	true	and	Reason	(R)	is	not	 the	
correct	explanation	of	Assertion	(A)

b)	Both	Assertion	 (	A	 )	 and	 	Reason	 (R)	 are	 true	 and	Reason	 (R)	 is	 the	
correct	explanation	of	Assertion(	A)

c)	Assertion	(A)	is	false	but	Reason	(R)	is	true
d) Assertion	(A)	is	true	but	Reason	(R)is	false

Read	the	following	statements-Assertion	(A)	and	Reason	(R)	Choose	one	
of	the	correct	alternatives	given	below:	
Assertion	(A):	Second	Five	Year	Plan	emphasise	on	the	establishment	of	
heavy	industries
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Reason	 (R):	 Third	 Five	 Year	 Plan	 introduced	 the	 concept	 of	 import	
substitution	as	a	strategy	of	industrialisation.
Alternatives,
a) Both	Assertion	(A)	and	Reason	(R)	are	true	and	Reason	(R)	is	not	 the	
correct	explanation	of	Assertion.	

b)	Both	Assertion	(A)	and	Reason	(R)	are	true	and	Reason	(R)	is	the	correct	
explanation	of	Assertion	(A)	

c)	Assertion	(A)	is	false	but	Reason	(R)	is	true	
d) Assettion	(A)	is	me	but	Reason	(R)	is	false

27.	 Which	duty	has	been	removed	to	increase	the	competitive	position	of	Indian	
goods	in	the	international	market?	
a) Custom	duty	
b)	Import	duty
c)	Export	duty
d) None	of	these

Short Answer Questions (Q28-10 Q29)

28.	 Give	the	steps	taken	towards	'Privatisation'	in	1991.
or	

State	 the	 financial	 sector	 reforms	 introduced	 under	 the	 New	 Economic	
Policy	in	1991.

29.	 Interpret	the	given	picture	on	account	of	economic	reforms	of	1991.
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Short Answer Questions (Q 30 to Q32)

30.	 Answer	the	following	questions	on	the	basis	of	the	following	data:

Country Annual	 Growth	 of	
Population	(%)

Sex	Ratio

India 1.2 929
Pakistan 2.1 947

i) Comment	upon	the	annual	population	growth	rate	in	India	and	Pakistan	
ii) Comment	upon	the	Sex	Ratio	in	both	the	above	countries

31.	 What	do	you	mean	by	globalisation?	Give	its	main	features
or

Highlight	the	man	features	of	Indian	economy	on	the	eve	of	independence.

32.	 What	activities	you	would	suggest	to	generate	employment	in	rural	areas?

Long Answer Questions (Q33 to Q34)

33.	 Why	is	the	world	faced	with	an	environmental	crisis?

Provide	any	three	suggestions	to	improve	agricultural	marketing

34.	 Read	the	following	text	carefully	and	answer	the	given	questions	on	the	basis	
of	the	same	and	common	understanding.	People,	generally	are	emotionally	
attached	to	their	place	of	birth.	But	millions	of	people	leave	their	place	of	
birth	and	residence.	There	could	be	variety	of	reasons.	These	reasons	can	
be	put	into	two	board	categories.	i.e.	push	factor	these	cause	people	to	leave	
their	place	of	residence	or	origin;	and	pull	factors,	which	attract	the	people	
from	different	places.	

In	India,	people	migrate	on	from	rural	to	urban	areas	mainly	due	to	poverty,	
high	population	pressure	the	land,	lack	of	basic	infrastructural	facilities	like	
healthcare,	education,	etc	Apart	from	these	factors,	natural	disasters	such	
its	flood,	drought,	 cyclonic	 storms,	 earthquake,	 tsumami,	wars	 and	 local	
conflicts	also	give	extra	push	to	migrate.	On	the	other	hand,	there	are	pull	
factors	which	attract	people	from	rural	area	to	cities.	The	most	important	
pull	 factor	 for	majority	of	 the	 rural	migrants	 to	urban	areas	 is	 the	better	
opportunities,	 availability	 of	 regular	 work	 and	 relatively	 higher	 wages.	
Better	 opportunities	 for	 education,	 better	 health	 facilities	 and	 sources	 of	
entertainment,	etc.,	are	also	quite	important	pull	factors
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Hence,	migration	 is	 response	 to	 the	 uneven	distribution	of	 opportunities	
over	 space	People	 tend	 to	move	 from	place	of	 low	opportunity	 and	 low	
safety	 to	 the	 place	 of	 higher	 opportunity	 and	 better	 safety.	This	 in	 turn,	
creates	both	benefits	and	problems	for	the	areas,	people	migrate	from	and	
migrate	 to.	Consequences	 can	be	observed	 in	 economic,	 social,	 cultural,	
political	and	demographic	terms.
a) Explain,	why	in	India	people	mainly	migrate	from	rural	to	urban	areas?		
b)	Explain,	 how	 expenditure	 on	 migration	 is	 a	 source	 of	 human	 capital	
formation?
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MARKING SCHEME

Sample Question Paper-1

Section-A (Macro Economics)

Answer	1.	(C)	Increase	government	spending

Answer	2.(b)	Both	Assertion	(A)	and	Reason	(R)	are	true	and	Reason	(R)	is	the	
correct	explanation	of	Assertion	(A).

Answer	3.	(b)	Consumption	and	Investment
or

(b)	fall	in	the	propensity	to	consume

Answer	4.	(d)	Any	of	these
or

(a)	(i),	(ii)	and	(iii)

Answer	5.(a)	statement	1	is	false	and	statement	2	is	true.

Answer	6.(b)	Both	Assertion	(A)	and	Reason	(R)	are	true	and	Reason	(R)	is	the	
correct	explanation	of	Assertion	(A).

Answer	7.(d)	Both	statements	1	and	2	are	true.

Answer	8.(C)	15	Lakh
or

(c)	Nominal

Answer	9.	(c)	Both	Statements	1	and	2	are	false.

Answer	10	(b)	A-(i)

Answer	11	(i)	fiat	money	refers	to	that	money	which	is	issued	by	order/authority	
of	 the	 government.	 It	 includes	 all	 notes	 and	 coins	which	 the	 people	 in	 at	 a	
country	are	legally	bound	to	accept	as	a	medium	of	exchange.

(ii)	Due	to	hyper	inflation	and	the	circulation	of	counterfeit	money.	there	is	a	
risk	of	fall	in	the	value	of	fiat	money.
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Answer	12.	As	a	Banker's	Bank,	It	accepts	deposits	from	the	commercial	bank	
and	offers	 them	short	 term	and	 long	 term	 loans.	The	central	bank	controls	 the	
credit	creation	in	the	economy.	The	Central	bank	supervises	the	all	commercial	
banks.

or
(i)	full	bodied	money	refers	to	money	in	terms	of	coins	whose	commodity	value	
is	equal	to	the	money	value	as	and	when	are	issued.

(ii)	High	powered	money	is	the	sum	total	of	(a)	currency	held	by	the	people,	
(b)	vault	cash	of	commercial	banks,	(c)	Commercial	bank's	reserves	held	in	the	
Central	bank.	High	powered	is	called	"Base	Money'	or	'Monetary	Base'.

Answer	13.	The	problem	of	double	counting	often	comes	I	while	calculating	
national	 income.	This	 happens	when	we	 fail	 to	 differentiate	 final	 goods	 and	
intermediate	goods.

Example	A	farmer	sells	his	product	(1	ton	of	wheat)	to	a	flour	mill	for	600.	The	
sale	of	wheat	is	afinal	sale	for	the	farmer.	It	is	an	intermediate	good	for	the	flour	
mill,	It	converts	wheat	into	flour	sells	it	for	Rs.800	to	a	baker.	The	sale	of	flour	
is	a	final	for	the	flour	mill.

 y Flour	to	an	intermediate	good	for	the	baker,	he	manufactures	bread	from	
flour	and	sell	it	to	the	shopkeeper	for	1000.	The	sale	of	bread	is	a	final	sale	
for	the	baker.

 y Bread	is	an	intermediate	good	for	the	shopkeeper.	The	shopkeeper	sells	the	
entire	stock	of	bread	to	the	final	consumers	for	Rs.	1100.	
If	all	the	final	sales	are	added	to	the	above	series	(600	+	800	+	1000+1100-

3500)	then	GDP	will	be	3500.	Which	is	theoretically	wrong.	The	important	fact	
is	that	only	final	goods	should	be	included	in	the	estimation	of	GDP.	This	means	
that	GDP-1100,	which	is	the	market	price	of	the	bread.	(final	good).

OR
Non-monetary	transactions	refers	to	those	commercial	transactions	that	are	

completed	without	any	exchange	of	money	between	the	parties	involved.

In	the	economies	such	as	India,	non	monetary	transactions	still	take	place	
in	rural	areas	where	agricultural	workers	one	paid	in	Kind	rather	than	in	cash.	
All	such	transactions	remain	recorded	as	they	are	outside	the	monetary	system	
of	 exchange.	 This	 leads	 to	 under	 estimation	 of	 GDP.	 Thus	 non	 monetary	
transactions	are	the	limitations	of	GDP	in	terms	of	welfare.
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Answer	14.	Gross	value	addition	at	Market	price		(GVAMP)=	Domestic	sale
	 	 +	Not	change	in	stocks	+	Exports	+	Single	Use	producer	goods
	 GVAMP	=200+	(-10)	+10-120
	 	 =110-10+10-120
	 GVAMP	=80	lakh

Answer	15	Direct		tax	is	levied	on	profits	and	income	and	the	first	burden	of	
tax	is	borne	by	the	person	on	whom	it	is	imposed.	For	example,	income	tax	is	
imposed	on	the	income	of	a	person	and	he	himself	bears	its	burden.

Indirect	tax	is	levied	on	goods	and	services	and	the	final	burden	of	tax	can	be	
shifted	to	others	persons,	for	example,	sale	tax	is	imposed	on	traders.	They	are	
to	pay	it	to	the	government,	But	they	charge	this	tax	from	the	buyers	by	adding	
it	to	the	price	of	the	goods	sold.

Answer	16.	(i)		 Trade	deficit	in	2020=47.95-44.88=3.07	U.S.	dollar
	 	 Trade	deficit	in	2021=51.13-45.48=5.65	U.S.	dollar	
	 	 Trade	deficit	in	2022=69.35-57.03=12.32	U.S.	dollar

Above	 calculations	 show	 a	 steady	 increase	 in	 India's	 Trade	 deficit	 that	
means	imports	of	goods	and	services	have	grown	faster	than	exports	of	goods	
and	services.

(ii)	When	 the	value	of	domestic	currency	decreases	 in	comparison	 to	other	
foreign	 currencies	 in	 international	 monetary	 market	 due	 to	 the	 forces	 of	
demand	 and	 supply,	 it	 is	 called	 the	 depreciation	 of	 currency.	On	 the	 other	
hand,	 the	central	back	of	a	country	 intentionally	decreases	 the	value	of	 the	
domestic	 currency	 lower	 than	 other	 foreign	 currencies,	 it	 is	 called	 the	
devaluation	of	the	currency.	
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Answer	17:
S-function	is	derived	from	C-function,	taking	the	following	steps-

Step	1.	C	indicates	autonomous	consumption	(when	y=o)	correspond	to	it	saving	
is	-C	(when	y=o)

Step	2	At	OL	level	of	income,	C=Y.	Corresponding	to	it	S=O	between	0	(zero)	
to	1	level	of	income.	When	c>y,	saving	is	always	negative

Step	3.	Starting	from	(-)P,	we	draw	the	S-function	as	a	straight	line.	The	slope	of	
this	line	will	be	(1-b)	which	corresponds	to	the	slope	of	consumption	function	
(=b)

or
Consumption	Schedule:

Diagram:

c-line	represents	onsumption,	indicating	the	behaviour	of	C	with	respect	to	Y.	
which	are	as	follows:

(i)	C	line	starts	from	10	(on	y-axis).	It	is	the	minimum	level	of	consumpation	
(whe	y=o)
(ii)	C-Line	is	positively	sloped,	moving	upward	from	left	to	right,	It	indicates	
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that	consumption	is	positively	related	to	income.
(iii)	After	a	certain	level	of	income	(Y),	the	rate	at	which	C	increases	is	lower	
than	the	rate	at	which	y	increases.

                                         Section B(Indian Economic Development)

Answer	18.	(C)	only	(iii)

Answer	19.(b)	statement	1	is	true	and	statement	2	is	false	.

Answer	20.	(b)	Purchasing	Power	Parity

Answer	21.(d)	Both	statements	1	and	2	are	true.

Answer	22(b)	(i)	(ii)	and	(iv)
	 	 or
	 	(d)	Any	of	these

Answer	23(b)	Both	Assertion	 (A)	 and	Reason(R)	 are	 true	 and	Reason	 is	 the	
correct,	explanation	of	Assertion	(A)

Answer	24.	(d)	All	of	these
	 or
(b)	Great	leap	forward

Answer	25	(d)	A-(iii)	B-(i),	C-(iv),	D-(ii)

Answer	26.(a)	Both	Assertion	(A)	and	Respon	(R)	are	true	and	Reason(R)	is	not	
the	correct	explanation	of	Assertion(R)

or
(b)	Both	Assertion	(A)	and	Reason	(R)	are	true	and	Reason	(R)	is	the	correct	
explanation	of	Assertion	(R)

Answer	27.	(c)	Export	duty

Answer	28	The	transfer	of	ownership	from	the	public	sector	to	the	private	sector	
is	called	privatization	following	steps	were	taken	towards	privatization	in	1991.

(i)	Granting	Autonomous	status	(in	form	of	Maharatna	Narratna	etc)	to	profitable	
PSUs.
(ii)	Disinvestment-	Selling	the	equity	shares	of	public	enterprise	to	the	private	
sector.
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or
financial	sector	reforms	under	new	economic	policy	are	as	follows-
(i)	Reduction	in	CRR	and	SLR.
(ii)	The	decision	to	fix	the	rate	of	interest	was	given	to	the	commercial	banks
(iii)	Allowing	domestic	and	international	private	sector	banks	to	open	branches	
in	India
(iv)	Allowing	foreign	investment	in	various	sectors

Answer	29.	The	given	diagram	describes	the	following	situations-
(i)	Minimum	foreign	exchange	reserves.

(ii)	High	fiscal	deficit	
(ii)	High	rate	of	inflation	
(iv)	Debt	Trap.
(v)	Low	level	of	International	trade

Answer	30	 (i)	The	annual	population	growth	 rate	of	 India	 is	1.2%	while	 the	
annual	 population	 growth	 rate	 of	 Pakistan	 is	 2.1%.	 The	 rate	 of	 growth	 of	
population	in	Pakistan	to	be	alarmingly	high.
(ii)	 the	 sex	 ratio	of	 India	 is	929	and	 the	 sex	 ratio	of	Pakistan	 is	947.	 India's	
extremely	low	sex	ratio	is	are	indicator	social	backwardness.	Longing	for	son	
and	female	foeticide	are	the	main	reasons	for	the	low	sex	ratio.

Answer	31,	Globalization	refers	to	the	integration	of	the	domestic	economy	into	
the	world	economy.	Globalization	promotes	the	unrestricted	exchange	of	goods	
and	services,	capital	and	labour	among	the	different	countries.

Main	features	of	globalization-	
a) Removal	of	barriers	to	free	trade.
b)	Integration	of	different	economies	of	the	world	through	trade,	investment	and	
migration	of	people.

c)	It	 is	 the	 integration	 of	 societies	 and	 systems	 through	 the	 exchange	 of	
information,	ideas	and	cultural	activities.

d) Globalization	establishes	the	supremacy	of	the	consumer	
e) It	is	the	mobility	of	people	and	knowledge	across	the	international	boundaries.

or
Main	features	of	the	Indian	economy	on	the	eve	of	independence.
a) stagnant	and	backward	economy.
b)	Dominance	of	Agriculture
c)	Bleak	Industrialisation	
d) Limited	Urbanisation
e) Semi-feudal	Economy	
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f)	Heavy	Dependence	on	Imports.

Answer	32.	The	alternative	employment	activities	in	rural	areas	are	as	follows-
a) Animal	husbandry
b)	Fisheries	
c)	Poultry	farming
d) Horticulture

Answer	33.	Causes	of	environmental	crisis	in	present	times-
a) Toxic	smoke	from	vehicles	and	industries	
b)	Excessive	use	of	insecticides	and	chemical	fertilizers
c)	Rapid	urbanization
d) Encroachment	into	forest	lands,	leading	to	deforestation	
e) Rapid	population	growth.
f)	Widespread	Poverty

or
Agricultural	Marketing:	Agricultural	marketing	to	the	process	that	includes	all	
the	steps	between	harvesting	and	the	final	sale	of	the	produce	by	the	farmers.	
Suggestions	for	improving	agricultural	marketing-	
g)	Establishment	of	Regulated	Markets	
h) Rapid	development	of	Physical	Infrastructure

Answer	34.	(i)	People	in	India	are	mainly	suffering	from	poverty,	high	population	
pressure	and	lack	of	basic	facilities.	like	healthcare	education	and	employment.	
Due	to	the	above	reasons,	people	from	rural	areas	migrate	to	urban	areas

(ii)	 Expenditure	 on	 migration	 contributes	 to	 human	 capital	 formation	 as	
it	 facilitates	utilization	of	 inactive	 skills	 of	 the	people,	 or	 it	 facilitates	better	
utilization	of	their	skills.	The	gains	of	migration	are	much	greater	than	the	cost	
of	migration.	Thus,	the	expenditure	on	migration	is	a	source	of	human	capital	
formation.
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PRACTICE PAPER-II 

ECONOMICS (030)
Class XII Session 2023-24

Time:	3	Hours		 	 	 	 	 							Max.	Marks:	80
General	Instructions:

1.	 This	question	paper	contains	two	sections:
	 Section	A-	Macro	Economics	
	 Section	B-	Indian	Economic	Development
2.	 This	 paper	 contains	 20	 Multiple	 Choice	 questions	 type	 questions	 of	 1	

mark,each.
3.	 This	paper	contains	4	Short	Answer	Questions	type	questions	of	3	marks	

such	to	be	answered	in	words.
4.	 This	paper	contains	6	Short	Answer	Questions	type	questions	of	4	marks	

each	to	be	answered	in	80	to	100	words.
5.	 This	paper	contains	4	Long	Answer	Questions	type	questions	of	6	marks	

each	to	be	answered	in	100	to	150	words

Section A-Macro Economics

Multiple	Choice	Questions	(Q1	to	Q10)	 	 	 	 				1	x	10=10

1.	 Under	the	Balance	of	Payment	structure	of	a	nation,	the	two	man	categories	
of	 accounts	 for	 the	 classification	 of	 the	 transactions	 are___________
and_________.
(i)	current	account		 	 	 (ii)	unilateral	transfer	account
(iii)	capital	account	 	 	 (iv)	loan	account
Identify	the	correct	alternatives	from	the	following:
(a)	(iii)	an	(iv)	 	 	 (b)	(iv)	and	(i)
(c)	(i)	and	(iii)	 	 	 (d)	(i)	and	(ii)

2.	 Which	 out	 of	 the	 following	 items	 is	 not	 included	 in	money	 supply	 at	 a	
country?
(a)	Demand	deposits		 	 (b)	Coins	and	Currency	
(c)	Time	deposits		 	 (d)	All	of	these

3.	 Gifts	and	remittances	to	abroad'	are	recorded	on	the:
(a)	Debit	side	of	Current	Account	 (b)	Credit	side	of	Current	Account
(c)	Credit	side	of	Capital	Account		 (d)	Debit	side	of	Capital	Account
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or
Excess	of	export	of	goods	over	import	of	goods	is	called
(a)	Surplus	in	Balance	of	Payments	 (b)	Surplus	in	Balance	of	Trade
(c)	Neither	(a)	nor	(b)		 	 (d)	Either	(a)	or	(b)

4.	 Read	the	following	carefully. 
Statement	 1:	Accommodating	 items	 of	 trade	 are	 undertaken	 in	 order	 to	
maintain	the	balance	in	the	BoP	account.
Statement	2:	Accommodating	items	are	net	consequences	of	autonomous	
transactions	 that	are	undertaken	 to	correct	disequilibrium	 in	autonomous	
items	of	BoP.
(a)	Statement	1	is	false	and	statement	2	is	true	
(b)	Statement	1	is	true	and	statement	2	is	false
(c)	Both	statements	1	and	2	are	false
(d)	Both	statements	1	and	2	are	true

5.	 Aggregate	demand	can	be	increased	by:
(a)	increasing	cash	reserve	ratio
(b)	increasing	bank	rate
(c)	selling	government	securities	by	Reserve	Bank	of	India
(d)	None	of	these

or
If	the	Marginal	Propensity	to	Consume	is	greater	than	Marginal	Propensity	
to	Save,	the	value	of	the	multiplier	will	be:
(a)	less	than	2	 (b)	equal	to	2		 					(c)	equal	to	5	 (d)	greater	than	2

6.	 The	following	information	is	given	for	an	imaginary	country:
S.No (	in	crores)

(i) imports	of	goods 400
(ii) Export	of	goods 340
(iii) Shipping 3
(iv) Travel	tourism,	etc. 5
(v) Interest,	dividends,	profits 50
(vi) Unilateral	transfers 40

7.	 Read	the	following	statements	carefully
Statement	1:	 In	India,	SLR	and	CRR	are	fixed	by	 the	commercial	banks	
themselves.
Statement	2:	Secondary	deposits	of	a	commercial	bank	are	always	less	than	
its	primary	deposits.
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(a)	Statement	1	is	false	and	statement	2	is	true
(b)	Statement	1	is	false	and	statement	2	is	false
(c)	Both	Statement	1	and	2	are	false
(d)	Both	Statement	1	and	2	are	true

8.	 Read	the	following	statements-Assertion	(A)	and	Reason	(R).	Choose	one	
of	the	correct	alternations	given	below:
Assertion	 (A):	 Import	 of	 goods	 and	 services	 reflects	 demand	 of	 foreign	
currency	Reason	(R):	Import	of	goods	and	services	shows	inflow	of	foreign	
exchange.
Alternatives:
(a) Both	Assertion	(A)	and	Reason	(R)	are	true	and	Reason	(R)	is	not	the	

correct	explanation	of	Assertion	(A)
(b)	Both	Assertion	(A)	and	Reason	(R)	are	true	and	Reason	(R)	is	not	the	

correct	explanation	of	Assertion	(A)
(c)	Assertion	(A)	is	false	but	Reason	(R)	is	true
(d)	Assertion	(A)	is	true	but	Reason	(R)is	false	 	

9. Choose	the	correct	alternatives	to	be	filled	in	given	blanks	A,	B	and	C.

Current Account of
Balance of Payments

Trade in 
Goods

Trade in 
Services

Transfer 
Payment

A

B

C

Net Factor 
Income

Import of 
goods
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(a)	A-	Export	of	goods,	B-	Gifts,	remittances	and	grants,	C-	Net	non-factor	
income
(b)	A-	Gifts,	remittances	and	grants,	B-	Export	of	goods,	C-	Net	non-factor	
income
(c)	A-	Net	non-factor	 income,	B-	Export	of	goods,	 	C-Gifts,	 remittances	
and	grants,	
(d)	A-	Export	of	goods,	B-Net	non-factor	income,	C-Gifts,	remittances	and	
grants,	

10.	 Suppose	 in	a	hypothetical	economy,	 the	 income	rises	from	5,	000	crores	
to	 6,	 000	 crores.	 As	 a	 result,	 the	 consumption	 expenditure	 rises	 from	 
4,	000	crores	to	4,	600	crores.	Marginal	propensity	to	consume	in	such	a	
case	would	be___________.
(a)	0.8	 	 (b)	0.6		 (c)	0.4	 	 (d)	0.2

Short Answer Questions (Q11 to Q12)

11.	 It	is	stated	that	"amalgamation	of	many	central	and	state	taxes	into	a	single	
tax	 called	 'Goods	 and	 Services	 tax	 (GST)'	 would	 facilitate	 a	 common	
national	market."	Do	you	agree	with	the	statement?	Justify	your	answer.

12.	 State	 whether	 the	 following	 statements	 are	 true	 or	 false.	 Support	 your	
answer	with	reason.
(a)	Taxation	is	a	effective	tool	to	reduce	the	inequalities	of	income
(b)	 Revenue	 deficit	 increases	 when	 government	 fails	 to	 recover	 loans	
forwarded	to	different	nations.

or

(a)	Interpret	the	above	trends	of	GST	collections.
(b)	When	was	GST	implemented	in	India?
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Short Answer Questions (Q13 to Q15)    4x3=12

13.	 Suppose	a	ban	is	imposed	on	consumption	of	tobacco.	Examine	its	likely	
effects	on	(a)	gross	domestic	product	and	(b)	welfare.

or
Government	spends	on	child	immunisation	programme.	Analyse	its	impact	
on	Gross	Domestic	Product	and	welfare	of	the	people.

14.	 Explain	the	role	of	the	Reserve	Bank	of	India	as	the	"lender	of	last	resort".

15.	 In	 an	 economy,	 investment	 expenditure	 is	 increased	 by	 400	 crores	 and	
marginal	propensity	to	consume	is	0.8.	Calculate	total	increase	in	income	
and	saving.

Long Answer Questions (Q16 to Q17)     
6x2=12

16.	 (a)	Calculate	Net	Domestic	PRoduct	at	Factor	Cost	from	the	given	data:
S.No (	in	crores)

(i) Net	factor	income	to	abroad 30
(ii) Sales 2,	000
(iii) Subsidies 20
(iv) Consumption	of	fixed	capital 50
(v) Closing	stock 100
(vi) Opening	stock 200
(vii) Intermediate	costs 1,	000
(viii) Indirect	tax 150

(b)	Transfer	payments	should	not	be	included	in	the	estimation	of	National	
Income?	Do	you	agree?	Give	reason	in	support	of	your	answer.

or
(a)	Given	nominal	income,	how	can	we	find	real	income?
(b)	Calculate	National	Income:

S.No (	in	crores)
(i) Compensations	of	employees 2,	000
(ii) Profit 800
(iii) Rent 300
(iv) Interest 250
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(v) Mixed	income	of	self-employed 7,	000
(vi) Net	current	transfers	to	abroad 200
(vii) Net	exports (-)	100
(viii) Net	indirect	taxes 1,	500
(ix) Net	factor	income	to	abroad 60
(x) Consumption	of	fixed	capital	 120

17.	 Discuss	the	working	of	the	adjustment	mechanism	in	the	following	situations
(a)	Aggregate	demand	is	greater	than	aggregate	supply
(b)	Ex-ante	investment	are	lesser	than	Ex-ante	savings.

Section B-Indian Economic Development

Multiple Choice Questions (Q18 to Q27) 

18.	 In____,	the	Great	Proletarian	Cultural	Revolution	was	introduced	in	China.
(a)	1985	 	 (b)	1965	 							(c)	1995	 	 (d)	1975

or
In____,	the		Special	Economic	Zones	(SEZs)	were	set	up	in	China.
(a)	1979	 	 (b)	1972	 							(c)	1982	 	 (d)	1975

19.	 Read	the	following	statements	carefully:
Statement	 1:	 SAARC	 stands	 for	 South	Asian	Association	 for	 Regional	
Cooperation.
Statement	2:	ASEAN	stands	for	Association	of	South-east	Asian	NAtions..
In	the	light	of	the	given	statements,	choose	the	correct	alternative	from	the	
following:	
(a)	Statement	is	false	and	statement	2	is	true	
(b)	Statement	is	true	and	statement	21	is	false
(c)	Both	statements	1	and	2	are	false
(d)	Both	statements	1	and	2	are	true

20.	 Arrange	the	following	events	of	China	in		chronological	order	and	choose	
the	correct	alternative:
i) Special	Economic	Zones
ii) Great	Proletarian	Cultural	Revolution	
iii) Great	Leap	Forward	Campaign	
iv)	Economic	reforms	were	initiated	
(a)	(iii),	(ii),	(iv),	(i)	
(b)	(iv),	(i),	(ii),	(iii)	 						
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(c)	(iv),	(ii),	(i),	(iii)		 	
(d)	(ii),	(iv),	(iii),	(i)

21.	 Read	the	following	statements	Assertion	(A)	and	Reason	(R)	Choose	one	of	
the	correct	alternative	given	below:
Assertion	(A)	Rular	development	in	India	is	of	key	significance.
Reason	 (R):	 Nearly	 two-third	 of	 population	 in	 India	 is	 dependent	 on	
agriculture
Alternatives	
a) Both	Assertion	(A)	and	Reason	(R)	are	true	and	Reason	(R)	is	not	 the	
correct	explanation	of	Assertion	(A)	

b)	Both	Assertion	(A)	and	Reason	(R)	are	true	and	Reason	(R)	is	the	correct	
explanation	of	Assertion.

c)	Assertion	(A)	is	false	but	Reason	(R)	is	true	
d) Assertion	(A)	is	tile	but	Reason	(R)	false

22.	 Read	the	following	statements	carefully:
Statement	 1:	 Seasonal	 workers	 are	 the	 worst	 affected	 by	 seasonal	
unemployment	in	India.
Statement	 2:	 Population	 is	 the	 total	 number	 of	 people	 who	 reside	 in	
particular	 loeality	 at	 a	 particular	 point	 of	 time.	 In	 the	 light	 of	 the	 given	
statements,	choose	the	correct	alternative	from	the	following:
a) Statement	1	is	false	and	statement	2	is	true
b)	Statement	is	me	and	statement	2	is	false
c)	Both	statements	1	and	2	are	false
d) Both	statements	1	and	2	are	true

23.	 From	 the	 set	 	 of	 events	 systems	 given	 in	 Column	 I	 and	 corresponding	
relevant	fact	given	in	column	II,	choose	the	correct	pair	of	statement.

Column I Column II
A. The	 growth	 rate	 of	 agriculture	

sector	 decelerated	 to	 about	 3%	
per	annum..

(i) 1995

B. A	 major	 change	 occurred	 when	
India	adopted	social	banking	

(ii) after	1989

C. A	 thrift	 and	 credit	 society	 was	
started	in	Kerala.

(iii) 1995

D. By	March	 end	more	 than	 seven	
lakh	SHG's	been	credit	linked.

(iv) 2010
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Alternatives:
(a)	C-(iii)
(b)	A-(i)
(c)	D-(iv)
(d)	B-(ii)

24.	 States	 where	 land	 reforms	 were	 successful	 on	 account	 of	 they	 being	
committed	to	the	policy	of	'land	to	the	tiller'	are:
(a)	Punjab	and	Kerala	
(b)	Kerala	and	West	Bengal	
(c)	Andhra	Pradesh	and	West	Bengal
(d)	Kerala	and	Andhra	Pradesh

or
Identify	 the	 option	which	 is	 are	 not	 true	 in	 the	 context	 of	 demographic	
condition	of	India	during	the	British	rule?	
(a)	High	Birth	Rate	 	
(b)	Low	Death	Rate	 					
(c)	Low	Infant	Mortality	Rate		
(d)	High	life	expectancy
(a)	(i)	and	(iii)		 (b)	(i)	and	(ii)							(c)	(i),	(ii)	and	(iii)	(d)	 (ii),	 (iii)	 and	
(iv)

25.	 Read	the	following	statements-Assertion	(A)	and	Reason	(R).	Choose	one	
of	the	correct	alternations	given	below.
Assertion	 (A):	 The	 growth	 rate	 of	 population	 of	 Pakistan	 is	 lowest	 as	
compared	to	India	and	China	in	2017-18.
Reason	 (R):	China	adopted	one	child	policy	 to	control	population	 in	 the	
year	1979.
Alternatives:
a) Both	Assertion	(A)	and	Reason	(R)	are	true	and	Reason	(R)	is	not	 the	
correct	explanation	of	Assertion	(A)

b)	Both	Assertion	 (	A	 )	 and	 	Reason	 (R)	 are	 true	 and	Reason	 (R)	 is	 the	
correct	explanation	of	Assertion(	A)

c)	Assertion	(A)	is	false	but	Reason	(R)	is	true
d) Assertion	(A)	is	true	but	Reason	(R)is	false

26.	 A	person	got	two	job	offers,	one	from	Mumbai	while	other	from	Chennai.	
Before	 deciding	 which	 one	 to	 opt,	 he	 go	 through	 the	 cost	 and	 benefit	
analysis.	Which	source	of	human	capital	formation	he	takes	into	account?
(a)	Expenditure	on	Training	 	 (b)	Expenditure	on	Eduction	
(c)	Expenditure	on	Migration	 (d)	Expenditure	on	Health
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27.	 Which	of	the	following	in	not	true	for	small	scale	industries?
(a)	SSI	is	capital	intensive	and	therefore,	increases	productivity.
(b)	SSI	is	labour	intensive	and	therefore,	employment	oriented.
(c)	SSI	shows	locational	flexibility	and	is	therefore,	equality	oriented
(d)	SSI	needs	small	investment	and	is	therefore,	equity	oriented.

Short Answer Questions (Q28-10 Q29)

28.	 Interpret	the	given	picture	on	account	of	World	Trade	Organisation	(WTO)

29.	 "Subsidies	were	needed	to	encourage	farmers."	Discuss	the	importance	of	
subsides	in	relevance	to	the	Indian	farmers.

or
"Small	scale	and	cottage	of	industry	are	important	in	the	development	of	
India	company."	Elaborate.

Short Answer Questions (Q 30 to Q32)

30.	 Answer	the	following	questions	on	the	basis	of	the	following	data:
(a)	Comment	upon	the	People	Below	Poverty	line	among	the	three	countries.
(b)	 Comment	 upon	 the	 percentage	 of	 Undernourished	 Children	 among	
China	and	Pakistan.
Country People	 Below	 Poverty	

Line	(%)
Undernourished	Children	(%)

India 37 39
China 32 9
Pakistan 44 45
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31.	 Elaborate	any	four	positive	contributions	made	by	Britishers	in	India.
or

Throw	light	on	the	'economic	drain'	during	the	colonial	period.

32.	 Discuss	the	importance	of	credit	in	rural	development.

Long Answer Questions (Q33 to Q34)

33.	 Elucidate	the	function	of	Pollution	Control	Board	in	India	to	address	the	
environment	concerns	in	India.

or
(a)	Give	any	three	causes	of	backwardness	of	Indian	agriculture.
(b)	Give	any	three	challenges	facing	India	education	system.

34.	 Read	 the	 following	 text	 carefully	 and	 answer	 the	 given	 question	 on	 the	
basis	of	the	same	and	common	understanding.	
Blessed	 with	 a	 varying	 climate	 and	 soil	 conditions,	 India	 has	 adopted	
growing	of	diverse	horticultural	crops	such	as	fruits,	vegetables,	tuber	crops,	
flowers,	medicinal	and	aromatic	plants	spices	and	plantation	crops.	These	
crops	olay	a	vital	role	in	providing	food	and	nutrition,	besides	addressing	
employment	concerns.	Horticulture	sector	contributes	nearly	one-third	of	
the	value	of	agriculture	output	of	six	per	cent	of	Gros	Domestic	of	India.	
India	has	emerged	as	a	world	 leader	 in	producing	a	variety	of	fruits	 like	
mangoes,	bananas,	coconuts,	cashew	nuts	and	a	number	of	spices	and	 is	
the	second	largest	producer	of	fruits	and	vegetables.	Economic	condition	
of	many	farmers	engaged	in	horticulture	has	improved	and	it	has	become	
a	means	 of	 improving	 livelihood	 for	many	 unprivileged	 classes.	 Flower	
harvesting,	nursery	maintains,	hybrid	seed	production	and	 tissue	culture,	
propagation	of	frits	and	flowers	and	food	processing	are	highly	remunerative	
employment	options	for	women	in	rural	areas.
(a)	How	the	term	'Golden	Revolution'	is	different	from	'Green	Revolution'?
(b)	How	horticulture	as	an	alternative	source	of	employment	improves	the	
economic	condition	of	farmers?
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